aths alag

CHABANE Oussama

AS

n“ I II i un II

dolwl ylhod liwll ©ia6i

Aylygiulll g AGlaLIY ] ,
e 4 >

Cilylaill v/ <
Jlgall Awuljy v .
J —
X ulwgli - 2020 pgisi jlanl

s Aulill Ciloigl ye Liillag Jgani

Facebook — Google — Instagram — Telegram : 5min maths J@




Goaall Jlgadl jeml Aalall Caaddl o5 2L Lwll "Smin Maths Az " (Ul DA

il ol Z Ll (389

b¢l,d fa..\.cja-)i <2021 539 Lp}ni.a.u el ol de clinelus ad Jold calll lia ¢l
@l p.La.” ] C}\".E.Ll J=JI & 4, a0 pj‘zlj L.;\Jﬂ J=ll L“g}gﬂa.ﬂ\ B EPINANY Q.ch.ﬂ\ J}Ls
, bl J‘Miﬂj él.h_“ uﬁﬂa_aij u—‘“—"'i > 65 Lo.pj ol Jdl ]

el e Il g 2lolas 408 Lo JI 2ladgy o sl il oo Iy 391 8

Vsl 2oy, S glilad puloall Jaadl lin uial g

).AUQJ‘ Sk 5 ztfy\i' dedls Lsls L“,S..\AMS @.o.zj Lsls g

Agll Olieadr ALl




== IS Maths
eud Jol 5lagsl @AM ilgius

2019/09/13: sl

CHABANE Owssima

Josll 138 4 Jga3i

Cwpll (o ]

aalaindl o cuhoiwdl + c bl 2
Ellogleo 1l 3

C (Wnall c Al apjlai L}

alglzo cylai 4

2020-2008 UjQIAll ¢ yjlag S

#5min® Maths



s O

130 T e Byaima Ll f e i (031,7 ) pdas § Gl Lpimia (C ) oSl R oo 1 Jlma e @8pme lls f oS3

aiuen s 389 @131l 23) Gy (C) Loimin sy Liabazul

Ledsyai Aegame (o Jlme IS (e Bt Bpazyll Jlgll @

R Lo B iun sgustl oS Jlodl @

L yad degazma (3o Jlme S e §raiun (290> IS Loud Juol> ) dabldl Jlgull @
Laugial pl) Lnye @

cga.ébaq.cdéiltd.s.\_?ﬁ‘f (b)gf(a) QHJWkga.bb.>..x.:.d§d.¢>ioﬁ.[a;b]dl.qm@csjmugaé)uubf

S (C)=k Cumy by a (n Hga=a

spwarme k ads> sue S Jal o ils [a3D ] Jlre e Spaiun 9 Aayme Als f oo 13) 15,51 Aday

by acn hsmme ¢ M J8Y1 e Juas f (x )=k Wslall of (B)s f (@) cn

a8 ol Jolsdl guuss ol £ (x) =k ablenl) JoI e J> 3929 bao 338 abwoia)) e dizyuo d)b&&bow

ek olwples el aiue W) dydo

el awadl

Vi
A5) (C)oSds [a:b]Jlns e Spatun 5 Aayae Wls f
sl (O051,7) plas @ Gl Lpimin
f(a’)‘ / g 93 (A) puzzadlef (B) s f () s ssams k Cisi> sae S Jal oo
% ' ¢ Lalols 2oz 9 (C) @omillasly 50 J5Y1 e alazy y =k aslall
- | i T Las e g (C) alasy (A) Ll JSal 3wl ).b 5 @ ¢ 350mma
ac C C
; b &1 (e3¢ oyl e Llialsd
Gasall o) g ©
lim«x =+0 *  limx=-o0 *  limx =400 *
lim x* =—o00  * lim x> =400 *  lim x> =400 * lim x° =400 *
lim l=—oo * lim l=+oo * 1im1=0 * liml=0 *
x—>0Xx x—=—0Xx X —>—0 x X+ X
alled Jo cllel @
—00 gl 400 of Ldgds loue Jiay @ .oWIs g 9 f
Cudll (oo 1 2021 Qla— axdall JIgAll Smin Maths Alo# gS



sl iy o
lim £ (x) leR leR leR +o0 +00 o0
limg(x) I'eR +o0 —o0 +o0 —o0 —0
1{1{}(f(x)+g(x)) I+ +00 —o0 00 “ec —o0

ropills plas dlgl @

lim f(x) [eR | 1>0|1>0|1<0|[<0| 40| 40 | =0 | 0 0
lim g(x) I'eR | 40 | —0 | 40 | =0 | 40 | —0 | —00 | 40 | —0
!Cig(}(f(x)xg(x)) Ix]' 400 | —0 | —o0 | 400 | 40 | —0 | 40 | “E T | “EC
soil)d dacd Jala Llgs o
11_1){11 f(x) leR l [ | +0 | 400 | —00 | —o0 o | 00 | —0 | —0

0
Img() |/ eR* | oo | =0 |50 [ 1<0 | 150 | <0 | 0 | 400 | =0 | 400 | —0

C C - C C
) X l
lim M - 0 0 40 | —0 | —o0 | 400 | € e ¢ 4 4
x—a g(x) I o - &

(ogz) "onatdl pue” c¥ln Bl z bk (e ALl SlyLasll Ld masd ¥ &) Yl (o

too 0 :
oo ¢ 61 U'}.-’-.’:-” ‘a,\.c oY tb‘ >
oy e sas ayle o2 393> )8 ala) —o e 9 +oo e aled) o

oy eV asd) aows ol ayled o» aabl aly) —osie 9 +oosie algdl o

to0F o0 g Ox(Fo0) ¢

LJM\ QLAAS.\MAS:" |
(051,7) clas @ Gl Lliies (C) 9 T Jlme e 2apa0 Wls f . plidid> oloae b g a

Al gl ulial) il L\
< P X =adslall 53 (A) pediad limf (x ) = +o0
O\ a s 5l szl @3lehl 9 4

\} (€) g i ()=
5 g T o Jolgddl yexd é}'gl'j i
. )
e oi 400 uie (C) dmiald oyl
D b it OOM( ).. o hmf (x):b
—00

cupll cpdo 1 2021 alls— anaell (JloAll Smin Maths Alzo#



J/d Y =ax +b Wolall 53 (d ) puiiudl lim [f (x)=(ax +b)]=0
P (C) gmiedl Jile csslin pudions 5o o

X [o
M —00 uie gl +00 uie lim [f ax+b)]:0

X ——0

lim (x)=00\ lim ¢(x)=0gn f (x)=ax +b+¢(x):,h WS aoyen £ alall &l 1)
Sf sl Jaed) Sisiol) Jibo oylan eutiun y =ax +b lablenll 95 eudiunll ol wolgl oo

ulal) aiiicially Cpaial () pudagl)
Gyill LA Bl pgds Y =X +b dilslas 4 Gylis @uitue ] Aeudlls @I J2ll (C) gl w5 Al
|7 ()~ (ax +D)]
Sl cdzad) cs (C) Buasy 0555 f (x)—(ax +b)<0 uts 13)
S bl cdradl 3g (C) Laing 055 f (x)—(ax +b)>0 K13
S e Ad)al)
Sl S pe AN

u(x)ed I e x S ol oo oo T e (e Ay s it 9 J Jlree e 2oyaa s v 1Y )RS
I e @yall 5 v ou 50l L 3eys G I (2 sl wvju@ﬂm‘wujm Al

X Ju gplsv b.m3 v[u ]
v(x):—3x+1 o u(x)=2x>-3 LW R le gusyeal v g MUJ.AJ
vou(x)=v[u(x ]: (22 =3)=—6x"+10 :lps) 9 R Jo aorzo v ou allil *

u[v )|=u(=3x +1)=18x>—12x =1 W) 9 R Jle asyan uov al) *

Gl aSpe Ao Algi<
S =vouiusJlosf oV .u.—00g 40 g Laas lonel Jiss ¢ 9b .a
1123f (x)zc ole )lrlilblv(x):c colS 13) 9 )lclglu(x):b <olS 13

2x +3

lim f (x) o> ny g f(x)= O [+ Joxall e doyenll £ alli)

X —>+0 X —

(f=vou).v(x):ﬁ9u(x)=2;+3Cu><,uupd\wVQuU,ud | GOy oo f

-1
limf(x):ﬁ ol 11mv( )= NG lim u (x )—11m2—x=2 ol W

X —>+0 X —>+00 X —>+00 x

b sae L gdlos h g g of
ol g(x)éf (x)<h( )‘_ngJIJ,mJL.Jqu Jol o o€ 13] 9 hmh( )—lj limg(x):l;alilsl*

lim f (x)=

X —>+0

cupll cpdo 1 2021 alls— anaell (JloAll Smin Maths Alzo# =y



lim f (x)=+oo ols f(x)Zg(x) QSN uall A x Jal e 08 13) g 1img(x)=+ooq.;l§\5!*

X —>+00

lim f (x)z—oo ols f(x)ég(x) GO uall A x Jal e 08 13) g limg(x)z—ooq.;lSBQ*
SUE>- e e 9 —o e alagdl Sl J) pelesdl ode san
Gl aand)
.hiO&AIQAQLL.E.!.EaQb.\.:a+h3a R I Jlme e ddya0 Uls f
a+h)-f (a . :
9f'(a)}ﬂﬂ\e4lyvigé-.~5->w~céld353f( h) Al )wm&hdﬁw@wmg;umuw ol Jsal

ca e f Al el saadl s
A 9 1 e glandl Jus Ll Jow Ionxuswwaa’W@&mv fal) amm
f alal sl o) fix sf (x) d
@L},ﬁ\ il <
aibslas g f (@) dprss dalre Lules A (a5 f (a))aaasll wie iy (C; ) Gl Lletos ol @ wie Glazsd) f odid 13)
y =f'(a)(x —a)+f (a)
y =f"(a)(x —a)+f (a) o2 adbolal o\ Aabail we (Cf)ub:ml) il ablan
¢ lai®y) pedili<
AMally Aol 2k aaT 8] Busg e (e @l 2K i35 (2 g Ll Adal ) 22K
pai sbars¥l §.C, (q) J ez i sa C'(g) of Lo " Ayl 20 " Al 2 C &> €, (q) =C (g +1)—C (q)
C alleay) 2K il aazal)l Wl o C' e C, (q)=C'(q)
S e A} d8iia
Slaradl Jas vou Wl ols u (1) de Blazadl v zu\_m_m;j R oo I Jlma e 3lazadl u Il el 13)
(v ou) =y [u ]xu’(x) et g I ke
cilpl) olad) g Adidall
R T Jlre e Glazadl alls als f
G )l (o d9aze sae ol oo oSaw e o f (X)) > 00T o x S J2T e 08 13
T e Ll sl Al ol Lo e f A sutass
G qedll (e 39azme e Jal e oSae lue Lo f /(1) <O T oo x S ol 0 o 13] %
T e bl Labline [ a0l 0ls Lol e f @) s
T deanls £l o f/(x) =000 e x JS Jaf o O 13]%
Ldaal) dpaal) ol
T oo i 3ae X9 R e T Jlma e Wapae @ls f
X Sl e G X e g [ G Stme J e Jlrs dzgs 46l ga [ A (lae Aulms By 2ead [ (X)) 0F Jaall
| (x)Sf (xo) J e
X 0S ol o camy X dadia s T G Gsime J otie Jlme dzgy 4l Gy [ AW o Bl Byi> Aaid f (X)) 0f Jsall
N (x)zf (xo) J e
o ol slas e B> 2sd [ (%) o s /1 Abeo B A f (g ) o Joall*

cupll cpdo 1 2021 olcy— anaall Jioall Smin Maths Alo# g9



cillans) ddads
I Gl gus | IS oo Callaai¥l Alads (nad (Say
(Wly) - x, daldll iy ddasil) vie (C) Aaidl G0 (T) peleall ]
(lea) . LHlal e i ¥ 5 xp de ae® f ' diiia) A2
(Whan) Lehlal e psd 5 x, die aaes " A0l AEiial.3
B 38y
(O31,7) plall § (C) gmiall bl 58,0 @(a;b) sl of LY
1 B.pl.ill
fla—x0)+ fla+x)=2b Lyt (U hyyaidegams) D at+tx 9y a—x3s XS dal oo

23.3,\.5.1‘
CfQRa=x)+ f(x)=2b Luad (@Il Casad degems) D 2a—X 5 XS J>i o0
= =a+X
3,8 Al Lple Juamll I o1 Ll 5 @0(7: ) plall & (C) dslas 2,018 {x Z el i3 3 dlal
: y=b+ -
B )9
(0:1,7) @lall § (C) gomiall Jbolis sama (A):x=a peazwlll @by
1 ?QJLE.U
fla=x)=fla+x) Leud (A Caaidcgams) D a+x 9 a—Xx XS dal e
23.3,\.5.1‘
CfRa—x)= f(x) et (@I Caspad Acgama) Doy 2a—X 5 XS ol (40
3 E\:»JLE.L‘
) L x=a+X
95 4ls e sl A1 o @3l 5 @0(3; ) odall @ (C) Wslas 2,LS { . lall pas
: y=b+
Al Addlal
. @‘)5.55 abila . a._'dﬁi s aoledl agsldl t‘}»i
Sl Llias (C) g 1 e Adpae dls f . Auds> due m oSd
cowilzia 9 dalaie plae 3
Lo Aalzie JISaT L) s4088Y) Al 428011 Q@ AN ¢ A
) =m=1. f(x)=m+1. F(X)=—m. 5-1-e-s-a-1tin "N ~ f()=m
f)=fm). f(x)=—|m| . f(x)=|m|. f(x)=m
8 mose Lltss (C)) 9 R—{=1} e 28,20 Wi oS Jle
:Jslat] JSadi

deg y=m alslall 03 cuatadl ae (C)) ol abolas lass bolgs (2 f(X) =m sball Jsl>
.me]—oo;—6[u]2;+oo[ Ddal e onalisee cnls Wolael -

m=2 gl m=—6 >l 0 caclins J> Ualaall -

me]-6;2[ Uzl o Jal> dslasll el -

ol odlo 1 2021 hjQlla— adaall JIoAll Smin Maths ARo# g9



AT Al i (g B by Jias plisia) O

(041 ) ilmtoy aslais plas & sl e Gl Leglitas (C,) 5 (C) s | e glisas olils g5 f

keR'. a,beR
(oAt Ui (redigl) el digaall el
fx)=x* dily (€)) bl 2 (C)) g(x)=—f(x)
g(x)=—x" . Caal 58l sadl
fx)=e* aalh (C)) ki () g0 =f(=x)
gx)=e" t-\,ﬁ\ﬂ\ JM
fo=x I Awdla(cy) ki 2 (C)) g0 =—f(=x)
g0 =—~(-») 0 pled) Tasa
B e W e b (€
f(x):x3 el 8l yena g(x)=|f(x)|
g(x) =|x’| osaaddaally b (C))
sl il
f(x)=1n(x) Sle Gy (€)) A A g(x) = f(x)
g(x) =In(x)) Ca ey Wl (C,)
f@) =+ =1 | e Gl (C,)s%a,54
g(0) = (=|x+1* -1 Sl Wc)) g(x) = f(=|x]
f)=x (C)) o= A(C,)
g =(x+1)"~1 i Aclad L“;'JS\ N EN Y
(-1 () il cimgivp] s | SO S +D
il u(b ] :

CQwnll (oo 4

2021 allc— anaall Jioall Smin Maths A2o#

110




g(x)=k.f(x)
F)=x+1 (ES M (x,y)e(Cy) S
g(x)=3x+1 M '(kx,ky) € (C,)

cupll cpdo 1 2021 alls— anaell (JloAll Smin Maths Alzo# M




Oldds glsaeh 5 a cus
.XOZZ.LLGSM f 0S5 Gob 9 a4 s WMall sl
e
- [—1;+OO[L,LcZu5).u Goae Wls f 1
N3x+3-3
—_— ., X
2—x

fx)= %2

-1
2)=_
f@) 5

f(x)zl_— M;x;to
X

fO)=a

o R e @9ya0 aae dIs f 2

Xy =0 iie Bpatua 095 G O daid (ne

o R e @8ya0 Laue Wls f L Ad> sus .3
f(x)=—x;x<0

f(x)=x0<x<l1

f(x)=mx—1;x>1

.m=1:@bs-i

R e Byors [ Ja  (C ) pn

R st [ 0985 G M BB (e -

io R e @8ya0 Laue Wls f Asd e M 4
f)=x"+mx;x<2
f(xX)=x-2;x>2

Xy =2 e Bpatus [ O8I J A gl Sl o
(C}) pgle J hazll dagall Yo -

sin x

f)=x+

(bl R e aiyaa lls f 1

X

e foale pial o f(x)Zx—isx>0 IS ol o sl el -

.+00

aholudl o AaInY! + cIlledl2

o

el
+

Aqlaundl o ayhoiwdl

/

2021 Qe @naell Jioall Smin Maths dlzo#

bl 0

2
5x242 .
Jim X2 @ 55212047 @
w0 2x” +x"+x—-1 x40
2 2
N N
dmY e im YT e
woto x4 -1 x+1

3_
lim A 12517 —3x @ lim——~ —**+2

ol — x4 2x =2

XH>+00

. sinx . cosx—1
Jdim ® .lim (7]
x>0 X x—0 X

AL BLALAY g Ayl yeru] (2

(1
X FE2 1o Ayae X Al paiell Als f 1
f(x)_x—— VX +2
V4x+1-3
f@2)=m
Xy =2 wie Bpaia [ OS5 G M Aesd e
2x*+b—a

f= x o R e adme dlls f2
f(x)=x*+2x-a

g 12



|x|«/ e e
X X )

— x| 1+— I+—

x X X

. Im (1 +lj:1 9 lim,/1+iz:1 s g
X>-+00 X XH>+400 X

EERVE S |
. lim

e |

=1 gl

X' —x+2
Jim

ol — x4 2x =2

dim(x’ ¥ +2x-2)=0 lxiirll(—x3—x+2):0:l.g.d

x—1
0 . )
.6:M\L}AM\‘=_\.:4JBLUJ.QJAJ
ﬁ}.&.v‘._;\_ﬂbj ‘ALE_Uj.E_w.gJ\ QAMSJj.\_'zJ\J_GSJd}}m’I
e dalaS (x=1) gyl plall s Locdll Jlnz,
il Jhatwl . —x° —x+2=(x—1)(ax’ +bx +¢) L

a=-1
—-a+b=0
—b+c:—1:
—c=2

C=—23 b=-1. a=—1:oi‘é\,.3|..'\.m5

X = x4+2=(x=D(=x"—x—=2) o3

X=X 202 = (=D 1) s danlall e

3
hrrll x2 x2+22 1()c 1)(1x xl 2)
X —x*+2x (x=D(x*+1) L
. —x'—-x2 4 )
=lim—; =—
ol xt+1 3
—x —x+2 _4
Jdim Ol

wol X0 —x? 4 2x—2 3

lim V42 +2x+7-3x O

XF>+00

im x =40 5 lim 4x? +2x+7 = lim 4x> = 400 :Luu

XH>+00 XH>+00 XH>+00

im X R x 7

X400

=400tz Aly oSy Ll Jleriwly

aholwyl o AQHY! + cIbladl2

e foale il o f(x)£x+§‘x<0 IS Jal e i el -0

.—00

—COS X

f(x)— = (hlS R e tipae@lls f 2

oad R 0 X S dal o a6l sl

.—00 e 9100 ..Ln.:.f ZQLQ} &'Li.’i.w|-t+

Jabd
abld O

. im=5x"+2x+7 = lim—5x% = —©

X400 X+

. =5+ 2x+7 . =5x* -5
lim ——————=lim =
oo Qx4+ x"+x—1 o 2x

o 27 P x— 1

2
Ciim ¥l @

-1 x+1

D lm x4 O Ty lim VX' + :\/E:Lza,d
x—> 1 x—2-1
2
_lim XL

—5-1 x+1

= +00 ZL"IL'Ung

2
am Yt o

X400 .X+1

poe Al W plas im xH —+(X)_911m’\/.x +1=+00 Lyt

+00
G e o]
+00

.\/x—2=|x|=x w9 x>0 :ole x> 40000 Loy

20271 yallcy @l Jioall S5min Maths dlzo# =13



oo ol pue Wl lim x=0 5 lim(cosx—1)=0 L,

x—0
0
= A
0 s
S(x)=cosxipai " g 7" ady psas 3radl suall Jleazuly
f(0)=0 i Ly

limcosx—l =1irnf(x)—(])‘(O)

x>0 X x—0 X

= f'(0) o3

F0)=—sin(0)=0 :tu>

) -1
Qim0 0 gwL
x—0 X =
. sin
Jlim x (8]
x—0 X

% JSGd! e cratll e &J\:-.limox=0 9 lingsinx=0 Led

f)=sinx:pa "S g 7" adp psas 3radl saall Jleazuly

f(0)=0 i Le
lim 2R _ hmm - ﬁmw s o
w0 x =0 x—() x>0 x—0

x>0

cos(0) =1. limL(J;(O) = f'(0)=cos(0) :JulL 5
x—

. sinx
Jim

-0 x

=1 &3l

ABLaad g &yl pein @
(1
M dad (a1
Flx)= x—x+2
Jdx+1-3 «x#2 da (e :ligd
f@2)=m

i s lim f(0) = f(2)igns %y =2 sis Spaiua f

.mzlinzlf(x)
.lirrzlf(x)w

aholodl O AAADY! + ¢ bl

ol anaall (Jloall Smin Maths dlzo

Y Crad| pus Ul LJ).(AQJ JLﬁbj Xlll}:o—3x:_w TS
.40 —o00 : K

o aomi 901 8)lse Jlonial

(\/4x2 +2x+7 —3x)(\/4x2 +2x+7 +3x)

\/4)(2 +2x+7+3x

45 +2x+7 -3x=

5 +2x+7
Jax? +2x+7 +3x

lim—5x" +2x+7 = lim—5x> =—0 4w 5

XH>+400 XH>400

. Im XL x¥7

XH>+00

2 S e oS0 5 ke e catll pute Al Ly las
+00

.ﬁ:|x|:{“>° S

-x;x<0

.\/x_2:|x|:x i g x>0 1ol x> 400 Les :JWl o

2 7
S 1=
—S5xP+2x+7 x( Sx —5x2]

Jax? +2x+7 +3x 1 7 3
2x| 1+ >

. —5x* +2x+7
lim =—00 :dia g

4o »\/4x2 +2x+7 +3x

Jlim V4x7 +2x4+7 =3x=—0 3

X—>+00

mcosx—l 7

x—0 X

=14



lim f (1) = £(2) lins %, =2 f QA Zlyac
Xy =2uic dbyan f
lim £(x) = lim Y223 =3

X2 X2 2_x

0 " n &
n JSadl e T & 7" e AL (assadlly

NACHR PR DM VR EVOR-PRITO-NIFSV I ¥ SR Y

¥
Bri3-3 . (Br+3-3) (Br+3+3)
lim————=Ilim X
=2 2-x w2 (2-x) (\/ﬁ+3)
~lim (3x=0)
™2 (=) (x-2)(VBx+3+3)
= lim x=2)
2 (1) (x-2)(V3x+3+3)
=lim S

. 1
Tim £ ()=~ sl

Xy =2 dic byaiue [ AN B3

1-+1+x?

JO=——3#0 R pasus 2
fO)=a
PEWERIR

lim f(x) = £(0) :Lad

lim f(0) =@ g

aholudl o AaInY! + cIlledl2

xX—+x+2
hm X —11m
7 w2 J4x+1-3

Lo

O m” n
n JSadl e TS f 7" s AL assadly

Blee plie 9 Jay 330 § AasB g iy pods " g 7" 8]
f(x)

a—b g2 a+b sual 38w olibs Glove b g a 1 485
V241 52 V2 =1 suall 38150 ke

¥

(x—m) (x+Jx+2) (\/4x+1+3)

“(Jaxr1-3) (xevae2) (Jaweie3)
(x—2)(x+1)(\/4x+1 +3)

=lim

12 4(x—2)(x+M)
(x+1)(«/4x+1+3) 18

=lim =—

w2 4(x+\m> 16

hm f(x)= hm

:bgd C;g&é)iﬂ“z

e o o Xy =2 e By f O9SG (G>

dim f(x) = f(2)

dim £ (x) = lim £ () :J s

x—2 x—2

2x* +b—a
hmx +2x—a=lim——— 4l
x|—>2 x|—>2 X )

. 8+b-a =4+4—-a ux

ca+b=8:33 8+b—a=16-2a :ga lia
(2]

f(@z%;xvﬂ
— X

o [—1;+oo[6L:. Lyas [ 1

-1
f(2)—?

2021 oy @l JIoal Smin Maths dlzo# g 15



limmx—1=limx* :Jull 5

x—=>1 x—>1

m=2 4wy m—1=1 uxs
Jx)=2x-1 [1;+oo[o,oxd.;>i oo O3

{f(x):x +mx;x<2:‘.4 R e 250s f 4

f()=x-2;x>2
M Aagd Cpad -

lignf(x)zlignf(x) @G Xy =2 e Syetus f

X2 X2
lign\/x—Z zlignx2 +mx
X2 X2
m=-2:4u9 0=4+2m 3|
S0 =27 =2 gl [2i400] e x JaT o
f(x)=x>—2x*

) =2x -2k |0y 2] e slanadl s f

X —o0 1 2
f'0) - 0+
lim f(x)=lim x> —2x= lim x* = +o0

lim f(x) = lim x*—2x=0

f(xX)=x—-2;x>2*

1

f'(x)= N )

>0 plaad s f
2 wie Blaa dilipe f
Sf(2)=0.lim f(x)=+0

(GYE sa f Al Slpaaddl Jous dis

2
a=lim f(x)= T L

x>0

(1—«/1+7) (1+«/1+7)
1+

=lim X

st P ( m)

o I=(1+X7) P
=lim———~—=lim—M—M
0 x(1+\/1+x2) 0 x(l+\/1+x2)

—x

=lim

w0 1+\/1+7

.1in(}f(x) =0 s JWl
o=0 33l

gam=1 a3

f(x)=—x;x<0
f(x)=x0<x<l1
f(x)=x-1x>1

Al Canpad Jlrs @ Baclus oub 15l (C)) sy

X 400 2 1 —oo

f@ L

+00 +00

f(x) o /0 7
1

aholwyl o AQHY! + cIbladl2

Xy =1 e Bpetue cudd LY R e 8 patun o f

M dagd (Al -
Xy =1 wic §yaiun ol IMR e 8paiun [ 05SS

Aim £ (x) = lim £ (x) =gl

x—1 x—1

20271 yallcay @l Jioall S5min Maths dlzo# g 16



hm f(x) +00 ;b 9 lim x—l—+oo Ly

XF>+00 X

FO)x42 X <0 I8 ol o soms Aiylall ki
X

o0 wie f e

hm f(x)=—0 Jubj hrp x+l=—oo Lo

flx )—ﬂ@wkwwﬁuw 2
+

c=1<cosx STt R e X S Jal oo 2 4855
—1<cosx <1 Lyl
—1<—cosx<1 4l

s Aaglall cal, Ll 80 3x7 wslsl

Bx?—1<3x* —cosx<3x* +1

8 LAY) i (e 5 (pestra & Olis (laae peg 1 S

1.1 S a<p o Wal
b a
2 2 2
. 3x —1£3x —cosxs?ax +1 dia
x*+1 x+1 x*+1
3x -1 3x2+1 |
. < f)<= ')
x* +1 x +1

.—o0 A g4 .A.K;f :\731.@_14_1

2
3x7-1 = lim 22 =3 Ly

im
oo x> 41 B x2

. 3x°+1 - 3x? 3,
ot % 41 b x?

.‘l‘im fx)=3

(Cf) [Same?)

‘f(x)=x+s’i%:glgl.¢§ R e 2,0 f .1

‘f(x)Zx—l‘x>O 8K >l o
X

C—1<sinx <id R o x (S dal o i 4805

—1<sinx <1 :Lud

LeinX L0 0 el e Jl s

'x_ X X
s Aglalll el bl S8 v aslsly

—1 sin x 1
+x< +x<—+Xx
X X X

1 1
X—— < f()Sx+— iy
X X

‘f(x)Zx—i 03|

A0 we f Al

ahaiwdl o aigiandl + clladl2 2021 idlcy  anaell ¢Jloall Smin Maths dzo# g1



4
k(x)=|x|+m i LS R—{—1} e 48,00 Wlsk
T XD KO) KB ZRKO
h—0 h—0

g(x)=|x|(1+\/21_1] (b LS R e pme Lsae WIS
X+

A9y & A o el

2
elas I Gsadl) gsrad! § Gl Llias (C)) o f (D) =x— — i S |-l ¢ e Adpas Wl f
20 =[] Blall]Ltoo]  Jlall e 28,all Zsaadl Il g (033 ) Lilmio 5 tolaia

bl wlall juds @ dosl @3 (C)) e sl (C,) sLidl oSey S o

)= Al Jols 5yLals sie M Ariadl Ll 0d e <Ll L

fug=2iir2
Jdx+1-3:X#2 08y X adxll s dls . f
f@)=m
Xy =2 die Bpaiue f O8SS G M Aad (ne

1—cosx
T =G xem U (b LS asall il f

f(0)=0

0 deall e Bpatun fol ol
.0 deall wie Blanay! Jas ool ow2

. ¢x2+1
. lim

e xt]

Elllogleo il 3 2021 lialey  anaall ¢Jloall Smin Maths dlzo# g 18



k(x)=|x|+% LS R{1} e 2, s k@
—7

—h+i—4
im K =KO) Al Ly
h—<>0 h h—<>0
—_— 2_ —_— —_—
=lim h 5h==lim h 5:—5

w50 h(h+1) 550 h+l

kD =k©) _
h>0 h

4
h+—-4
1im KW =kO) _ h;lfl s

h—>>0 h h—>>0

W-3h . h-3
im =lim =
w0 h(h+1) 50 h+1

i KD =K (0) _

0 h

—3:4.7.»3

(=5) sl oo @kl suadl slun ¥ (=3) cneddl o gradl suall (¥ 0 e Blazadtl ALlE xe s Wl K o] iz

@l daaidl die golas Givas Jein K ) oo 0L sl (o BT 2LLE 5 cneadl (oo Blazad aLls K Aladl o L,

Eliloaleo jil 3

02t
K gl gl dazs 2 (054) daadl o Joall (Say :dlasde

ik LS R e 2800 dlls g (2]

g(x) =|x|[1+ ! J
x*+1

A9y & W o gl -

—x 9D o x JS U1 o0 toliae Wl f 2 4S5

JEO=F(0):ad Dy e

2021 ialey  anaall ¢Jloall Smin Maths dzo# g 19



Eliloaleo jil 3

1 1
g(—x):|—x| 1+—2 :|x|(1+ = j
( x +1
=g (x)
A9y & Aot dia
el Adslo 7,4

f(x),x>0

g(x)=|f(x)|={_ <™

. (Cf) e &L.La(cg)glé x>0 K13 :éi

duolgall el udlh (C)) wlas (C,) oo (oS 13

() =) Byl Lo e 2ayaeg Wl 8 O

: (Cf) oo LMkl (Cg) clidl a8

g(x) = f(x),x>x,
g)=—f(x),x<x,

g(x) =|f(x)|={

: Jlls

(C)) e g x> X, (C,) J=T (0

Jiolsall gl 2euilly (C)) las x<x, (C,) i
8(X)=m slall Jglo 5,La1s ste (Lol Ladl
sdal e L

(X=2%)). cuzge iy J> Wslael) m=0

nmse oals Aslaell 0<|m| <2

asns 591 5 Cerga Loausl (Pl Aslaall || =2

LYl § olaline (D> Wslaall [m] > 2

m mm@

2021 ialy  anaall ¢Jloall Smin Maths dlzo# g 20



Flx) = x—x+2
«/4x+ —3 X #£2 ol el

f@2)=m
m=1in21f(x) e g linzlf(x)zf(2):‘§'u4 Xy =2 e Byeiwn f
i £ () o

llmf(x) = hm x+2 Lol

Mm 3
0 ; "
n Sl o " g 2" s il pasganlly
(X)) Bolee plio g Loy 38100 § Aasid g iy podi g 7" ady]
V241 52 V21 suall @olhe i Jlia Va—b sa Ja+b saall Gl coldsis oloie b s a S
sl

(x—\/x?) (x+x/x+2) (J4x+1+3)
hmf(x)—hm
M( dx+l— 3) (x+\/x+2) (J4x+1+3)
(x—2)(x+1)(\/4x+1+3)
=1lim
= 4(x-2)(xrx+2)
(x+1)(«/4x+1+3) 18
=1lim =—
w2 4(xexr2) 16

FOD s Limfe-lme——S )=lim(; sinx ) =0:09 0 il i Sy f WA (5]

50 oo (1+cosx)sinx
0¥ 0 el e Blaad! Jas f il 2
) fO-f0O), .. 1—cos x sin x - sin x 1
1}901( x—0 ) I}Hl( xsin ) I}E)l x(1+cosx)) I}HF( X ><1+cosx
. f)-=fQ) 11 \
1131 , X373 f'(0)

X5+ X>+400

— lew.,.._lt poe Al W ylas Tm xH =+00 o lim vx% +1 =400 Lyl @
_+_

.\/x_2:|x|:x i g x>0 :gls x> +00:00 Loy

Elllogleo il 3 2021 il anaall ¢Jloall Smin Maths dzo# g2



Ellogleo jial 3 2021 )&y anaall ¢Jloall Smin Maths dzo# g 22



sue m il baugll 0b s 3 Lile giital (5

f(x)=m dslall Jsl>

tob WS R—{1} e dyma f AU

_x3-4x2+8x-4

f(x)=
) (x-1)°

S f A Glle clead

x’—4x* +8x—4

lim f(x)= lim 17

X +00 XH=>+00

3

.X .
= 11m—2= lim x = 400
X +0o0 X XH>+00

lim f(x)= lim x =—o0 : JulL

x—4x*+8x—4

lim f(x)= lim
x—>1 x—>>1

(x—1)*
3 _ 2 _
lim f(x)= lim * 2% ¥4
x—l x—l (x — 1)

.&leéa:\s\ d}h dS.& E) ffd\ﬂ\ Qb..?ﬂ u.u_)J‘ ™
a e GEINALE £ Al

Bx* —8x+8)(x—1)* —(x* —4x* +8x—4)(2x—2)
(x=1*

J')=

xt—4x 4357
(x=1*

X (x* —4x+3) .
140
(x—1*

f'x)=

S

Zgﬁi X7 —dx +3 B Ge f(x) B

+00

] —o 1

F@] 4]

3
-0 +

Cwpall c il aylai WG

2021 Qe - @naall (JIoAl Smin Maths  Alzo#

:59 d20r) 80 ¢pjQJ (]

R —{1} e apall Fagsuall Al oSat

_x3-4x2+8x-4

f(x)
(x-1)°

b LS

.(O;f,}') dalate plae Jf coguill Goiudl § FAUIL Jiall ikl C
wcisyaill Aegazma s9i> i F A Sble cosl (1 (1
it Jods JSi s FAIN clpds sl (o

xeR—{l} S dal oo umidy €. b ada@ztl slae¥l cne (1(2

peiiueS Y= X—2 adalas gl D pednad | by Cp ol il (o
woylie

D aedlly Cp aapgsus (¢
oo ][ dmtt g @ tusts > das f(x) =0 Wslall of o 3
1072

cuydiy A J |y piiiul.

9 Jwolsall yema e 2cm E»yl).(O;f,}') olatl 3 C; 5 Dol (4

(sl s9me de lem

£123



tsl 3x—2 Ll e (3l 3yl 4

fx)-y

pesic | ndse
Lnagl) D A2 f (D) akic,

of e 5 oo 1] Jaall o el 33 i 55 pase - AAI13

.]—00;1[ dadl & @ sy Sa J f(x):o aleal)

Jsae e 2em shjn).(o;f,}') el & Cp 5 D ila
(il e Sl lom 5 Jualsl

ddl&d\d}hd&m@uﬂ\@}\ﬁsm}ubw
rlalaall 53 aisd) ae Cp Jiniall abaléi s o f(x) =
y=m

11 .
caly da dag me}—oo;z[ Jdal (e

11 .
TS ENRENE] m=Zd.=\OA

11 :
CJsla SO g me}Zﬁoo{ dal (e

Cwpall c il aylai WG

2021 ey - @l (JIol Smin Maths  Azo#

| IGITEN
=

ds ccb¢a el Aacy) U:u_a—iz
:L’gﬂxeR—{l} IS Jal e

cx+d
(x-1)

f(x):ax+b+

(ax+b)(x—1)*+cx+d

X)=
@) e |
¢
_ax3+x2(—2a+b)+x(a—2b+c)+b+d
(x—1)°
rand AdyUaally
a= a=1
=-2 —2a+b=-4
:4...\.0}
c=3 a—-2b+c=8
d=-2 b+d=-4
3x-2
() =x-2+ AL R
(x=1)
: Doyyladd) ?.\s‘.'\.md‘—g_a
dlual

-

hm[f(x) y —hm{x 2+ —(x— )}

lim| 22 | = lim> =0
X0 (x_l) X0 x

rililae 3 D adivad) Jiby Cp Saiall o i e
c)lie Al y=x—2

: D ) il Cf ipainy ¢

3x-2 | .
f(X)—y—[(x_Dz]Leﬂ

24



o 3 -3

1
f(x) ~ () o

[=33] oo x IS dal e 4l DA LD Jial e a3

fx)=-2
[73:3] dadl (2 f(X) 2 =2 tdasliall ila de gane 4kaj

:ldanall e Ll .4

27a+9-3c+d=9  [f(-3)=9
3a+2b+c=0 |rm=o0
c=-3 ) r0) =3
d=0 £(0)=0
Ba+b=0
3a+2b-3=0
tei e
c=-3 i
d=0

1
.d=0 C:—S‘bZIcCl=§ tle daaniagle

f(x)=§x3+x2—3x D dda g

81 12 64 cyoi Ed
2 [03400[ e ddyall FAIIL paas

=055

- 2
x 2x° x

susll (031, 7)) owilmie 5 salaia plae § L Glead! Jetoall 92 C

.3cm
. Qw‘ Jj..\.?' ‘JSJfo ‘ f&w uﬂ).}.1

s9mea plady ¥ C gmiall of gaiiiasl < f(X) =0 Wslall Jo - 2
ol

S(x)=m Wslall Jol> suc m

Cwpall c il aylai WG

:80 (24r) 62 ol
AW s aspae [ Wl (C) Gt Jekadd! ga JIsh! JS2J)
i (O113) iloia y aalaia lne  [333] Lkl e glazioy
CA(339) dazil Jodn g O @dall aeey (C) or*
(OA) il Juds 5 Leadl lulas ] Lalols @I Bzt §(C) yop

(OA) ol 4o g5 Jalas gals.1

A s sl ope.2

S ()22 el [-3;3] Il § il U3

dyC.b.a; e f(X)=aX’ +bxX* +cx+d . o ydid
Audds olusl

1
.d=0 4c=-3. b=1‘a=§ ol o

CAa da
: (OA) piisall 455 Jalas .1

_9-0_9

. Ya— Yo _
-3-0 -3

X4~ %o

P A s ladl G JMsal) a2

2021 Qe - Al Jigall Smin Maths  al2o# g28



f') - 0 + 0 -

X 10 1 1 +00
2
J ') - 0 + 0 -
Foo | :
l(x
\ 2/ \0
5 1
H== — |=2:&s
Y
f(x)=0 aled s 1.2
6 9 1 6x°—(3)x+1
S I R 2 A TV
f(x) PR =
—(2 1
627 —(2)x+1=0 %:o s f(x)=
2 9 - _15 i .
6x —(5)x+1>0 :&u\%j A=—= )k

Aol sdll ) gan alady YO Fnidl 3

us:mal\ e ?ﬁmuﬁh Gyl Joas s —0
:‘é.mf(x):m dalaal) Jsls
Jola 2 Y m<0 dal e

g daaag 0<m<2 Jal e

A dag mz% S m=2 Jal
. s 2
Jels SO s g 2<m<§ Jal (e

2 .
s da dag m>§ dal 0w

sl M\m—c

:T) (laal) Aolas (pas

FO=2 5 f =0im Toy= F =D+ £(1) s

Cwpall c il aylai WG

2021 Qe - @naall (JIoAl Smin Maths  Alzo#

ol ezl wie C gamiall Ty 9 T} bl oo JSI @slan cne -z

1
135 Lealilold

f(x)zg—i+— i [05 400 e A pmall f AU

. g_a\);uﬁd\ d}.); IS¢ fg"_:\):uﬁ oun .l
renblgall

ciis e @ g agieape anh e ndus lim L0 1 ,SX

x40 "

hm f(x)=lim é—i+i—0 i g
> +00 x40y 2.X X

hmf(x) —hmﬁ—%+i3

x-0 x X X
400 —00 1JSE (e il are Al W jelas

1 6x° —2x2+1

_ 2 sLal

6 9

2 .3 3
x 2x° x X

6x> —2x2+1

lim £ () =1lim L

2
. 6x” . 6
=lim—-=lim— = +o0
x>0 x x—0 x

- Rl

Cun [05400] (Ao LI ALGE f A1)

6 9(-2 3 -6 9 3
Jx )———5(?j——4=—2+—3——4

627 +9x -3 sl Tl 5 L3 (e f () B

26



Sl i 13k, [ WAl Sblal e

P(x)
(X +1)*

fx)=

—{—1} oo X IS dal o oof om2

Lelnad o JSa o3 Al a3 olons! il 3

2(0-a)

f(a) auﬂb&wﬁf(a)ZM ol owd

0 aolatt s whadl wie (Cf) J bl (T) Wslas cne .5

:]—1;1[ e X S Ul o il 33236
X (x=1)
X +1

fO)=(=x+D=

(T) sotoald aadlly (C)) aomill Aasng upsl.7

(C}) 5 (T) pusi8

s X sl jeidl agaa LI P (]
P(x)=2x"-3x* -1

t Py Ay 1

rcbleall

lim P(x) = lim 2x° —3x> =1 = lim 2x’ =+

X>+00 XH>+00 XF>400

lim P(x)= lim 2x’ =—o0 :4w 4

aaiiall

s R e pasddald s p

P'(x) =6x" —6x

x=0 5 x=1 :gl 6x*—6x = P'(x)=0

SUlS P(x) L gl

P'(x) T 0- 0 +

Cwpall c il aylai WG

Alglals il dkiil) vie 7 Gulaall dslae y:%:db\

1T, aleadl Aalaa (puad

(o rser 22

.%L@Lﬁu ) akiil) sie T, uledd) Alolas y =203

85 a2 75 ¢yoi Ed
iy X Al piiell sgum 1S P oS0
P(x)=2x"-3x*-1
Llads Jous JSa o3 Pl ol i eyl 1
Jimll e @ g S Jeas Jeas P(0) = 0 aalall of o2
07 wian @ Jlpas e [14oo]
R e P(X) 5yLal o3 e inal.3
1—
3

x +1

X
=)

f)= o R—{=1} de 2dyaa tauc @lls f 0

.(0;;;}) oilzmie 5 delaie plae 3 Gled! Lbias (C)) 5

2021 jolley - anaell (Jioall Smin Maths  Ao# g2



c oY x4l o P+ l= (e D — x4+ 1) 1 of sl

. A=-36<0 spee ¥ —x+1

lim fo)= lim ~ 22 o
x—-1 r——-1x"+1—0 "

. lim f(x)= lim }_X—H2=+oo e g
x>l —--1x" +1> 0+

5100 sy lie aie dalay =0:Q\3‘1‘im F(0)=0: L
X|—>+00
. —00
Do lie aives Adbaax = =130l lim f(x) =300 1 Ly
x———1

. —00 4400

P(x) C
A1) tR—{—1} e X IS dal e ol o -2

fx=

s R—{—1} e gasdlaligal
—(x*+1D)—(1-x)(3x%)
(x> +1)
B —x=1-3x2+3x° B 2x  —3x* -1
(x> +1) (x> +1)

fx)=

P(x)
(X +1)°

costhdl sagf'(x) = : Jull

Ahss Jaaa S8 5 f Al s olal s .3

P(x) Y
(° +1) ol e

S fsa it s Ak

P(x) 5l ge f(x) Bl ol f(x) =

X —o0 -1 o ~+00

f @ = <0+

400 0
01 NN,/

P &) s Jgaa

X —00 -2 -1 ~+00

P'(x) 0 -0 +

-1 —+00
P(x) | <07 X 27

[1;+oo[ Jadl Jeor lany S Jast Jist P(x) =0 doledl) .2
[1;+00] diaall e Lelai dasi ) 53 paesa P AVl 100Y

Jdodl Je g ang paic 32 s ) P(1) <0< lim P(x) s

[1 4]

107" @ & joan

.P(1,7)=0,21 5 P(1,6)=—0,49¢ P(1,5)=—1 :un
ael,6:1,7] o

R ‘_AGP(X) Tv\.u‘ CL\.\.\M\ .3

X —00 o —+00
P(x) - 0 +
1-x _
f(x)—x3+1 to R—{~1} Je &padll f (Nl

DA Gl oo 1

—Xx B S
S =hm—=hm—2=0
x‘ +1 XF>—00 x* XF>—00 X

lim f(x) = lim

X t0 o -1 —o0

S I

f(x) \f(a +OO\_OO /O

lim f(x)= lim_—21:0

XF>+00 XF>+00 X
X —00 -1 —+00
x+1 - 0 +

im f()= lim =
x——>-1 —-1x" +

r +1 Bld) i

Cwpall c Al cylai g 2021 Qe - @l Jioall Smin Maths  dlzo# £)28



B[ e IS dal e ) 525 .6
F)—(—x+1) =22 iC: 11) P R
X 3+l O
1-x (I-x)+(x=D(x’ +1)
—(=x+1) = 1=
fE)-(xth=5 P i F@) =
l—x+x4+x—x3—1_x3(x—l) 41
- X+l - 41 3 ) . .
: Wb 5 20° =3 —1=0:4l P(@)=0: ol sl
csthall a4l
- 0{ +
fla )—— 1aa gl
() Galaall Zpnsilly () iniall Ay s .7 1
2
X (x 1
AN X x+1)= -« -a .
s SO =—5 S >——( )L @)=
3(a’ +1) a’+3
2
x -1 0 1
x+1 -- . Al _
2 (@) 232l Dpan (e
x - +
X +1 + L6<a<1,7:wl
(x=1) + ‘ 0o -
X +1 _ —L4<2(0-a)<-1,2
Laas) S ) \L @ S8 (¢
@) M)...1,2<2(1-a) <14 :4ia
(€)M ={AO:D}
(2)...10,68 <3(a’ +1) <11,67
1,4 2(1-a) ;
. < < O 2 1
(C) 5 (T) oy -8 1,67 3(a’ +1) 1068 g (2 Do
1,2 2(-a) 1,4
<— < 4
L 11,67 3(a’+1) 10,68
| ;
| | : JBL 5 0,1<—F (@) <0,13 151
il
il
.—0,13<—f(a)<-0,1
.._I"_-._:\\ R[0T -(T) Ll ilsbe 5
_ . ._\.\\- B . L}N .
5O ==1 & (T):y=f'O)(x—x)+ f(0) :lu
WY FO)=1
|
\
'? < dki) xie (C,) J pabea (T) Aslas . y=—x+1 4ia
I
Cwpall culial cplai G4 2021 ey - @l (JIol Smin Maths  Azo#

=29



X400

lim [g(x) y] = hm [x— 2x4—1 —x}

— lim [—2)“_1} — fim =X — lim 2 =0

XF>+00 4

X

die (Cg) A lie aitie Y= talilae A A sl taiae

. 100
t el mgll —
tA ) Al (Cf) Sy *

f(X)—y=xt1
X

Ll

. x+1 )
G5 (C) )1l 5= >0l [lo] Gox IS Jal e
A

PA Al (C,) Ay ®

2x—1
=77 :Lal
X

s —2x+1 :Lfi

Lol 5,L31 (e 3l )L e 5 (X)) —

X 1 +00
—2x+1 -
dagll Aoas (C,)
d

o f A s *

Cua[loo e FEIUALE f A

x+1

X —(3x2)(x+1) 1y ¥’ =3x7 -3x7

) :

o 3 _ 2 2 _
1+ 2x" —3x 1+ x"(2x-3)

f=1+

, 2x+3 x*-2x+3 .
fl)=1+ — = : gl
X X

(x+D(x* —x*+x-3)

)= — e
X

Cwpall c il aylai WG

2021 ey - @l (JIoAl Smin Maths  Azo#

123 é2dr 48 ol

i LS [1+00] e lidyne lidls go

9 f(x):x+xt1

X X

5 olaie plae 3 g5 Follall loledl DLl Loa (Cg ) 5 (Cf)
Lem ezl e Busgll uilzie

Jolie pedias ¥V =X aidslae gl A quaiadl ol oo 3azs 1.1
PO e (Cg)3 (Cf)

A G il (C, ) asnos o A ) 2esidly (€ ) enios e -
[Lioo] e g5 Fom IS i pupslg

-89fum S

Slpds Jodo JS& -

(C)s(C)) A wi-a

[1;+o0

[1;+oo[

dx W'

Iz;; 1dx,jx+1

Gl s az oo A 5 (C) )2 cusanll ol Golus o 08 ¢
[3:4] 0t de ssiaer 00 A 5 (C,)

PATRPIN [1;+oo[‘_;c Oldea sillag 5 f

F f(x)=x+xt1

X X
tnylidl sl - .2

Ll

-

_x}

2 :0
xl—>+oox

i3]t

—hmx—+1— lim 1

X>+o0 X

sie (C))d e i y =2 caliles U1 A piiaal) 14ia

. +00

sl

-

30



ALY Jlsall = .2

[li+oo[ e H: Hx_“uun Adeal A e
X

x+1

IH(x)dx: j—dx+f—dx
T IR ig;_jéderJ‘%dx:;— 212 +¢
D83
-1

1
22 aub e 1y, I?dx:m“

[l+oo] e K x> 2);4_1

Alall ddal Ay i

jk(x)dx=j2fc;ldx:j%dx—j%dx

2 1 1 1
J‘?CZX—JAECZX:—?'F%-FCZ

31

(EEE

ua
288

j-Zx—ldx‘._,LA_

3 X

IZH{_L+LT
x* X' 3%

11 1 1) 645
=l —+—|-| —+— |=——ua
(16 192) (9 81) 15552

L)M\—C

[3:4] dlodl e A 5 (€ ) 33mdd) el Aaless S, o0

(S e 5SS, o8 Adﬁ@;( )u\u

Cwpall c il aylai WG

g(x)=1-

L0 =X x =35l o f(X) Byl
g A s *
tua[l 400 (e BELIDIALE g A

—8x* +4x°

2x* —(4x)(2x-1) - 2x*

(+*)
—6x* +4x° —6x+4
o =1- >

(<)

—1-

x+6x 4

g'(x)= -l

e lal 3adsie Al aiay g'(X) >0 2 [1400] ek JS ol Galinad

im 2X~1

XH>+00 X

=0

2021 ey - @l (JIoal Smin Maths  Azo#

. [1;+oo[
-3

L8 Gt Jsan*

tbleal) Cuas
R ) 2x—1
1Y lim g(x)= lim x— ’; = o0

- limg(x) =g =0 ;

X 1 ~+00
8'(x) +
g(x)
0 / +00

g3



Cwpall c il aylai WG

[3:4] Jadll e A 5 (C, )4 33mal) il dalie S, o3

1S e S S, o A i ek (C,) ol L

T t2x—1

S, =jy—g(x)dx=j ——dx
3 3
645

= ua b ass (@ d\ )
¢ T 55y 10 () el o
'Sf >S (RPN 9
2021 ol - @naall Jioall 5Smin Maths  Alzo# E132



4 O
dal2o ¢Jpjlod S
. /
( O (il ] :g\euSR—{3} Aeganll e adall 2l f

f(x)=x2—3x+2;xe}—oo;1}
f(x)z);__;;xe}l;?)[upﬁoo[

(035 ) oilmia 5 alaia slan 3 f 2] Gl Jizeal) (C)
Ledyad egame cHlme s90 (po > S e [ AN Blg epal 1
sl e f AN Ay et eyl -2

o033 Jall e f A1 Al pupsl o

O AT PR 65 WP 4 €3 SRV JUR

> <
x51 21 x5 %1

A Aol @3 dazill wie (C) goiall Golell (A) cudtuell. Wslas LS| 4

{ o

)
Upo j g0 =2x-Vx"+1: L R e a5l g Wl pai |

.8 Wl slswsl .1
(8 Blal it cigead by @l M Juas g0 =0 auall of o2
SO =20 41 —x L R e q5,al f Al e I

0 wiey 10 wie f Al e el (0313 ) Luilate 5 dalate elas § bl Llis (C))

S AW Slpss Jgas il

daglzo ol .S

2021 JQly  a@xxel Jigal Smin Maths azo# £33




Al s Lol yud o M [£(0)+3x] einl3
A0 e (C)) gomiall Lyde lagdias (AY):y =X @uazadl o cnsd
(A) pgazadl 5y =-3x @slall 55 (A) puarael] 2wl (C)) goxiall Zaing 0p3l.5

(AY) 5(A)  (C)) qu)ib

( © il ) Q@\W(Cf)oiﬁaf(x)zzt—x_;:L_,l..'LQSR—{—l;2}u\.;E\5)_,.L‘aJuJ\f

.(0;?,})@1;_:1\3 obaill @bl J1 gl goiadl 3
Lo mludl b @F Lasyad degaze bl aie f Al olle s

—2x(x+4)

[ = T ot R—{=1;2} o X S J21 o0 il 002
(xz—x—Z)

Lld oz (s [ I 5 olnsl il

A A lall (A) izl 5(C) ) miell (gl mosll ayol-13

ool gsme 2a(C ) gholas blas cne-o

(€ ) il s Bylal) clegarad) @iz

C(B3=m)x? +(m=1)x+2(m—1)=0 Wslall Jsl> 5,Lsl 9 sae M Adadl bapuosll @b o Lilyy (28L-o

c

b 3 £ 3
f(x)=a+——+ ot 29 =1 e calizmyx g sae (K dal o0 S 6,00 4a@x) slaedl cne-1.4
N :

+1 x-2

2500 Yl e a1l Ao 2l iil-c

iy i sde Alusx=2,0=3 5 y=3ile¥olas @l Slaradl s (€ ) @milly samll ) 2olus S(4) S5
23] Ut

A L S(A) tobad) s

A—2

3x2—|x|—2 i i
g(x):m ik WSR—{-2;2} e 28,2l NIl g S216
x —_— —_—

Aglzo cylal § 2027 Qe Al Jioall Smin Maths dlzo# =134




A9y g Wls W G cnsr
Lewtia 2l pud 9 Xy =0wie g Wlald Blaxadl 4uld uyol-o

el s ¢ g WAL el (€, ) il 351 (€ ) gomill Jlanialy 5 2alall Zasall 30 095 g(x) uiST7

N
U.Ij.ﬂ.ljl ) .g(x)=xcosx—sinx: 4 LS [O;zz] e Byall g Il pail

Lelads Joda S g g Il pds olassl yopol-1
07 ] Jlell e () 5Ll X 08 s el 2
i WS[- 7] e Bapallx aidod! il ol &ausdl f @11 oSG

f0)=1

Fl)= sin x

" ;xe[—ﬂ;O[u]O;ﬂ']

(0;;’}) eilmio 5 dolaio plas G I s sius § Gl Lletss (C) 5
[ 7] e f W1 Amads Lyl 1

N | e £ clpad eyaf2
[~ 7] e o

3
. -x £ £
OS)C—SIH)CSZ‘ [0;+<X)[QAXL;E_.{.E).)JLQS&|QAQ| o3

3

(W 2azsd)h™ g A" h' usl h(X) =Sinx—x+% Byladly e @3 all A ol Jleaie! cliSay L)l

h(x) LAl sl @

f(0) el @3 0 i GaraW AL f A o (e d

0 alolall s ahasll wie (C) gomiell (T) polell Woslas uzol.5
(T) selell 5 (C) gominld qaudl gl 10,31.6

(T)5(C) w7

daglzo ol .S

2021 JQly  a@xxel Jigal Smin Maths azo# g3




(o wa

x*—mx—15 N N
p9dae Al Aud> baug M Cos fm(X)Zmig‘abs‘@w s f oS

A iyl dcgama (nel

Ledsyad Aegazma d9u> e f Al Slle csl-1.2
Lo mlid! yud -0

Lol Joar i s f A1l s slansl ey0l.3

(C,,) alumill 8 JI il 3> 9 dads dzgs 41 .4

m

(A1) oldlasyl @ls Aaadl Jody g (C,,) gomidl cne5

(@ Gl

N

Jroo1[ sl e f(0)=

2
—X

o Adyae X adsdl panell dsae Wiy f AN

x+1
Jroo—1[ Ol e f Il clpas ol

Jal e Cums € 9b 00 AaGxll slucdl cne2
f(x):ax+b+ﬁ Dy peXx S

Legead sy (Dy) 9 (D)) opylin cnesios Juay (Cf) o qiizwl3

Sloly g Bl 43 Jell § & lass M Juas () =5 Waall of caii 4
(C;) 5(Dy) (D) gial5

(0313 ) puilmo 5 sslaie ;5T wlas 31

0y 5 (AM) ablss alazs N g x<—1 M (x;0) (A(=12) Laaddl Sl
X NG N alslus) asgl1

XAy OMN il i luw w2

Aglzo cylal § 2027 Qe Al Jioall Smin Maths dlzo# 53¢




U-'.lll-l" ) F(x)= X 1:_.' ]1;+00[u\.:. Lyas Loue Uls f
\}x—

A s sl ol

bl s 2

f A Sl Jeis a3

. 10l y :x+%:<u.bl.:.n(d) Sl sl (osiicnn d.gﬁ__gf Ul axie ©) Ui Lq.'ii—i.4
(d) J 2y (C) duassy oyl

(C) 5 (d) gl 5

Uil ) %‘R_{l}&‘ﬁﬂxg&ﬁéﬂ‘w%au&lbfdﬁj

1
f (x)=|x —2|—|—x 1
O3 ]) il 5 alaza wlas 3 Gl Llitas (€ )
Aallall sl 5oy 095 f (X)) Bylee sl 1
Xy =2 aeal wie [ A &ylaral ool 2
Ll Bl s Sqmizad b o S (2HR) S (D) S (2HR) S (2) i 3
> h < h

h——>0 h——>0

2 alalall ot whasl wie (€, ) 3 (A) 5(A)) sraledl @otas w1 (o

[ a1l clpss Loyl 4

sz e im[f (x)+(x =2) ] Tm[f (x)=(x =2) |cent 6

(¢, ) amills lall Slesazalls (AQ)J(AI) il 7

l—m(x—l) ) i Caplt

x =2+ ———" =0 bl Jyl> sse M araall bl 048 sy Ll 2L 1.8

(x-1)
10 Jyell @l5 Aslall gl sie e Loo il -0
0 10,27] 2> |COS(9 2|+1 m(cos@—l)zo
(cos6-1)

daglzo ol .S

2021 JQly  a@xxel Jigal Smin Maths azo# g3




Uil

-

gx)=2x—-~x"+1:L R de Wall & Wl yuai

.8 Al p55 sleest 1
L8 bylal miiwl cdiad by @ lusg > Jias g(0) =0 Wuall o o2

SO =20 +1-x L R e 25,al f Al i i
(0313 ) ilnie 5 dalaie elas § Gl Llts (C))

70 Lieg O e ff A il s 1

.f'(x):\/ig%; R o xS dal oo sl o2

S I Slpss Jgan il

Al s Lol yud o M [£(0)+3x] 13

A0 e (C)) gomiall byde legdans (A):y =X @uazadl o cn0d

(A wazall 5y =-3x slall 53 (A) paiiuel] Zeaill (C)) amiall Zonng oysl.5

(A) 5(8). (C)) o6

Uil ) oo ] o

(0515 ) wilmiag dalaio plas ) Cogude Sorudl

g =1-(+ DV +1 : b LS R e 8kl dsaadl Al g |

" L g A Al el 1

lpall Joas JSA « g 21 i slnsl upal .2

L 8(X)=0 s R gd> 3

1=+ DV +120 2 X ias sae Sl o 4l guiial 4

Sl Ltes (O)5 f)=—x+1+ xf+1 L LS R e @l f aoaadl A1) K2l

g(x)

f)=—"""F— Lot ¥ 5&> ouc 1 cpe sl sl 1
2+ 1 > 2 S dol oo )
AW Sl Jgas UK g paall slaesl Gyl SLLA sl 2
¢ Ediwd 13k f(x)+f(_x):2:x‘z,&.i-‘b-.).\.r_did_?iwmiwﬁg
0 Aol w3 dlhadl wie () gl (D) Lulall @slan S| 4
.1<ﬁ<2;,__&_.,.,3 fousg > Juss f(x)ZO:ElJaL’l\QTQg.S
¢ miad 3l M [f(0)+x-2] sl 6
T giiiad 13k }il}}o[f(X)+X] Y

(O) i 7

(=X DN+ =mo +1 =2 X g eall ol Alslall Jslo 5,La)s e 7 iandl bpsll wud oo 2315 8

daglzo ol .S

2021 JQly  a@xxel Jigal Smin Maths azo# g3%




daglzo ol .S

i, /)= Jim ()

:1 (gl (o

bl A

xl—lgloo f ()= xl—lgloo(x 3x+2)

. o 2y .
x]igloof(x)_xligloo(x ) !

' x]i)lzloof(x) -
Jimf()=0
x—1 x—1 x—>l1
Hmf)=0 ¢ limf)=
x>l x—1
lim f(x) =
x—3

2_
limf()=—0 oy (& D8
53 (x=3)—>0"
lim f(x) =
x—3
2_
Clim f() =40 e | D8
3 (x-3)—0"
C o2 .
¢ im f0=ln o im fe=

. xl_i)r}rloof(x)=+oo e g

+00 :éi

. hgn fx)= 11£n(x 3x+2)

2
. -1
HmX——2y =
1;n( x_3)

x—1

xc -1

- 2
11£n( 3

) *

X
x—3

<
ol x—>3 W-

x2 -1

x—3)

h£n(

x—3

>
ol x—>3 W-

2_
lim (*_—1

x—>+0" xy—3

)*

Asaadl wie Al &)l dulys <122

.leDf:,éu_l Df oo Joraanel suall

2027 jQlley  anaall ¢ Jioall Smin Maths azo#

539



daglzo ol .S

lim f()=0 5 lim f(x)=0 -

x—1 x—1

A e Sypatas [ AN diag %Clgllf(x)Zf(l) 8l %Cig}f(x)ZO 103
o033 el e f I 2l Al -
(1).09a5d) 8 dls LY R e 58 LY J—00; 1] Jlall e 8yateea [ 1N

(2).. aabl &> 29 Lasai degame (o Jlme 4¥ |133] Jlell e 8yaine [ &I -

o33 el e s fAIA G i (3) 9 (2) c () oo (3 1 e Bpaius f AN -

f() _x*=3x+2

ol x e ool o8 13) 3

x—1 x—1
2 _ <
C ol ane Wl hm A 103 {(x 3x+2)_)0:¢,p x—>1 U
x—)l x—1 (x-1)—>0
im 2 lim (x-2) lmf() fim &=D&=2)
< < - g x—1
x>l X1 x5 x—)lx1 x—1
R TAC N R
< 4
x—>1 x-1
S _ x? 1 ol xe I3[ W 3;+o0] o 13) -
x—=1 (x=-3)(x-1 | ’ ’ :
2
G200 %y
(x-3)(x-1)—>0
o)l aie Wl hm@ 203
x—)lx 1

sy puc Ul adly)

lim f) lim Ex—:ls))((x+11))
x—1 X1 x5 * .
2027 jolley  anaall Jigall Smin Maths azo# E40



i@ R (TS
im —— =—1 sl 11£n = h£n 3 8l
x—>1 x-1 xol X1 x5

92 sladdl oo 9 el oo T e 3radl Lasae g luddl (g el oo T sdadl e Blazadll alls f Al o i G Les *

(1)

) =3 51w glaa ALl f oAl gl

(1) dprss dolae Lules T dlolall @3 dhaaull wie biay (C) gl *
y=F D=1+ F(1) sl yas (A) Lololl 4

Cy=—x+1

:2 (gill (o

.g(x)=2x—x/x2+1:g R de g Wl (1
.8 A 465 slesl A

o> R e Glazadll alla g 4l

2'(x) X" +1—x ey g'(x) =2 2x ) X
. = ‘9 = —_ = _
N 2 +1 \/x2 +1

R e Ll sl dls g :JWlls. g'(0)>0:R e X S Jaf oo L 2002 +1—x BLal e g'() ByLal :Jul

daglzo ol .S

1
(L2980 J>) x:_ﬁﬁi xzﬁ e g

L8 Byl miinwl cdigad clby @l > Jias (X)) =0 auall o o .2
.(1)...2x:x/x2+1 ¥ 2x—x*+1=0 e g(x)=0

?_U.M (1) Ualall x<0 d..>-i %)

1 2 2 _ )
4x" —x 1_03614)6 =x +1x>01d—.>idy°

1 .. —0 =
a—ﬁ s O ‘J.é}j)‘\}d-m-' g(.X)—O asladl L_;Lﬂl"j R@;L_@jéﬁm 8 Lu,,u\-‘

- 8 E)L&‘

i +00
X NS
g(x) - 0+

SE=20F+1-x : L R e as,all £ alludl e (1

2021 JQly  a@xxel Jigal Smin Maths azo# g



lim f(x)=lim 2yJx* +1—-x=

= lim x =400

X+

o R e slazadtl 4l £ i f'(x) =

f(x)=2x*+1-x
2(2x) 2x
)= ~1=
S 240 x*+1
2x—+/x*+1
Xt +1

-1
VXt +1

70 dieg O Le oA L_;Lv‘ wlus 1

. lim f(x)= lim 20x% +1—x =+

1
li 2, 1+—-1
x;rz:olxl( x/ t o ]

Rw de&iu.o@iuyz
1

Fi=—22 g,

VxP+1

(gl VX H1>0 ¥ g(x) slal o f'(X) 5lal o ECTRRY

—00 1 +00
X B
g(x) - 0 4
—00 L +00
x N
f'x) - 0+
fx) B
dalzo cyjloi S 2027 jQlley  anaall Jioall Smin Maths azo#

A sl Jeus

(o=

clim [ f(0)+3x] Clus3

42



daglzo ol .S

fim [ £(0)+3x]= lim | 245" +1-x+3x]

[2 x2+1+2x}x[2 x2+1—2xJ

=lim[2 x2+1+2xJ=lim

fim [ £ () +3x] =0 sl o o [2 1_2x] Ly
o (40 +1)—4x” |

. . 4
lim = lim
o [2 X +1- 2x} o [2 X +1 —ZxJ

= lim -2 =0

e [ X +1- ZxJ

i) _pAwad)
=00 Hlgmy Jile wylin i Y =-3x dolall 93 p.g.ﬁ.l'—wl‘
A0 110 (C)) smiall Lyae lesdiun (A) 1y =X qanadl of on 4

fim [ /(0] = lim |2 +1-x-x]

2+1—2x}<[2 x2+1+2x]

[2
— lim [2 x2+1—2x]zlim
XF>+00 2
lim [ (9~ ] =0 sl 212

(4 +1)- 4x] 4
1m

””*’[ e +1+2xJ "H“”[z x2+1+2x]

= hm—=0

e [\/x +1+ ZxJ

490 1ie (C)) gomiall Ciyin pudiun (A):y =X eazadl :Jll

400

x &
f@]| - o

+

oeedll ansll 5
1y = 3% lslall 55 (A) uitual] Zailly (C;) omiall Zongng Alys
(A) @53 (C)) 1l sy F(x)+3x =22 +1+2x>0 Lyl
(A Yy =x slall 53 (AY) euiiual] Zadlly (C)) omiall Zongng Aulys
(A 358 (Cp) Wy f(x)—x=24x"+1-2x>0

(A') 5(A) ¢ (Cf) o) .6

2021 JQly  a@xxel Jigal Smin Maths azo# g3



:3 (gill (o

fx )—M e kS R—{~1:2} Je 28,211 101 f

s f Al bl oles1

xP—x—=2 gl alall Blal opis 2 9 —1 wie ALl olu

400

X —x-2 0 -0 *

2 2
lim £(x)= lim >%—*=2 _ Jim 3%

=3
X—>+00 X—>+00 XZ—X 2 X—>+00 x2
lim f()= lim Eitin i JN
—-1 X" —=x=2
hm f(x)— lim M —00
—-1 x"—x—-2
3x° —x—-2
hm X — —=—
S= lim 2
hm f (x)= lim 3x2——xZ +00
22 x"—x—2
2 2
lim £ (x) = hmu= lim 2% =3

X—>—0 X _x_2 X—>—00 xz

dalzo cyjloi S 2027 Qe anaall ¢ Jioall Smin Maths azo#



2ol Gilse lin (A) i IS Jidy 90 =2 9 = —1 Lealalan sl somel Crilye Csplin (asituns J+E-,'(Cf)‘.s'\>—'~l‘

cy=3 alsbas balsall
g Blazadl) ALl Wl R —{—1;2} o x JS J2f o 4T 002

(6)6—1)(x2 —x—2)—(2x—1)(3x2 —x—2)
(x—x—2)2
2x*-8x  2x(x+4)

()cz—)c—2>2 (xz—x—Z)2

f'(x)=

2x(x+4) slal an f'(x) sl f A pad slesl-o

—2x(x+4)=0:{x=_4 :JWl s
x| —o —4 400
—2x(x+4) -0+
Lelaad Joun
X | —o0 —4 -1 0 2 +00
f'(x) -0 + + 0 - -
3 400 1 400
7 \ 7 / \ \
25 —0 —o0 3
9
H(A) ezl 5(C, ) aomiald gl puosll Auols1.3
() =y :Gall LAl uyas
2_ p—
ol @ Luasls Gyall ylal JWb o f(x)—y=M—3=22x—+4
X —x=-2 X —x-2
X -2 -1 2 +00
x+4 -0 + + +
x—x-2 + - +
(A)M(Cf) (A) L‘3’33(Cf (A)M(Cf) (A) @F(Cf)
EVEDN |

daglzo ol .S

2021 JQly  a@xxel Jigal Smin Maths azo# E4s



oldlasY) sme pa(C, ) glolas bolas -
:f(x) =0 ol J= 6}53 :J.@b.é_” BTl

3x2—x—2_0:>{3x2—x—2=0 .

= |
X’ -x-2 X =x=2%0 ¢
x=1
3 -x-2=0=> )
x:?

(€)= {(Zi0) )
(C ) (3 y)={(0:1)} saie s F(0) =1 gl scass N s5m0 s

(€ ) il s Bl Slaganad) gz

0| FIYERY

(3—m)x2 +(m—1)x+2(m—1)=0

. Led
= f(x)=m

y=m Aslall 15 quarall o (C ) gl abolas lads Jolsd (2 Ll Zslall i Jsl>
Bl 9 (raltie ond> Jeds Aslall m < =106 130

Leeliane N> Juds dalall ngj m=1 oK 13
i 25 :
Jel> Jeas ¥ aolall 1<m<? oS 13

Aglzo cylal § 2027 Qe axaall Jioall Smin Maths dlzo# S



daglzo ol .S

ol ol as alall %5<m<3 o 13l

S g M Juas dolall m=3 K 13
CByLadl § onaliza cnl> Juas Aslall m >3 oK 13
:0,b,a i) sl cpai-4
Lot
+I)(x=2)+b(x-2)+c(x+1
oo—asbyc _aler)(x=2)+b(x=2)re(x+1)

x+1 x—2: X —x=2
3 ax+(b—a+c)x—2a—2b+c

> e Al
X —x-=2

a=3
=<b—a+c=-1 =<b=
2a-2b+c=-2

2 4 )
f(x)—3+3(x+1)+3(x_2) 03l

25 400] Jlell e @1l adial Wiy g biiiwl-c

2 4 e e
F(x) :3x+§1n(x+1)+§1n(x—2)+c;c eR e Ul ol Uls F
A WYL S (A) ladl olus-i5

UL (A)@ﬁ:(cf) 2400 e x 8 dai ope Lt

3 2 4
S(/i):Lf(x)—3dx:{3x+§ln(x+l)+§1n(x—2)—3x}

A
2
3 ~ 1n144_ln[(/1+1)1n(/1—2)2}

2 4
= {Eln(x+1)+§ln(x—2)1 == 5

L lim S(2) -

A—2

1n144_1n[(l+1)1n(/1—2)2}2

lim S(ﬂ,) = lim =400
A—252 i—=252 3 3
3x? —|x| -2

g(x):m ik WSR—{-2;2} e 28,2l NNl g S2l6
X —|x|—

2021 JQly  a@xxel Jioal Smin Maths azo# Bl



daglzo ol .S

Az93g Wl W of wlal
wb —xeD, s xeD, (K>l o Lud

3(—)6)2 —|—x|—2 3 3x? —|x| -2

g(=x)= =
()2
=g(x)
Aoy dls g 4wy
t Xy =0we g Wl Blanadl 4,06 dwlys-o
3x —x-2 |
- 2
im 8980 o ¥ ox2 g 2x = lim — )
x—>-0 xX— x—20 X x*)Ox(x _x_2) x*>0(x _x_2)
3 +x-2 |
- 2
tim 80780 iy Px=d oy 2y 2 g
x——0 x—0 x——0 X x;)O_x(x +x—2) x;m(x +x—2)
0 wie Glaradl 25 g Wl o3l lim S =8Oy 80=8O) g,
x——0 xX— x—=—0 X—

Jiolsall sl Gilse @(0;1) Anasll s olos Judy el ¢ sl

bl dewdll 5o, G9o g(x) 4LLST

3x° —x—-2
3X2—|)C|—2 m,XG]O,2[U]2,+OO[
#(x)= X2—|X|—2 B 3 +x-2
———ixe o2 U]-2:0[

X+x=2

Gl @lall s 3 g Al Jzall (C, ) gl 031(C) ) omil) Jlenialy 5

2021 oy anaell ¢Jloall Smin Maths alzo# 3



:4 (il (o

g(x)=xcosx—sinx: b LS [0;7] e 2o,all g @il
(g W a3 sloesl ayal-1
[0 7] DLl e Blazadt abls g @il

g'(x) =(xcosx—sinx)’
=COSX—XxSin x—cosx

g'(x)=—xsinx
g0 =0 gy =—7m5 g'(x)<0:JWly sinx>0 L xe[O;ﬂ] NES I
[0;77] e Loles abline g Al dule

1‘;'&\‘.5_'2.” Jj.u;.

g'x) -

0 \
g(x)

:[0; 72'] Jl=ll Lo g(x) 85La12

dolzo clai S 2021 joley  anxall Jioal Smin Maths dzo# g%



daglzo ol .S

2(0)=0,8(m)=—7 [0;7] e Lolas 2unslize g Al Ly
.xe[O;ﬂ] IS =l e g(0)<0 ¢T g(x) < g(0) wlpadl Jguz (10 9

f0)=1

Fl)= sinx

;xe[-70[U]0;7] ke LS [mz] e abas faN

X
-] e f a0 2 1
ol [-737] ge—x < x S dal

sin (—x) _ —sinx _sinx

f=0)=

(—x) —x  x

(-] de [ a0 @l dlys2

[ 7] Sl e @lazadt alls f a1l

v [sinx ),
f(X)—( . j

XCOSXx—Ssin x

2
X

2
X

8(X) Blal e f(x) Hlal Wl s X >0 [ 7] oo X Gadi> sae S 2 o
10 7] Jlelt e boles 2umslize f @Il die s f(X) <O 14

3
: x c
0£x—smx£—6 o [Os00] e X aua> sae S 2T e oF 003

2

.h'(x)zcosx—1+% 0400 e lazadt aLls 7 ALl Lyl
h'(x)=—sinx+x JO;+o0] e @lazadl aLls A" 2l Lyl

. h'"(x)=—cosx+1‘[0;+oo[ Se sl alls A" Wi Ll

h"(x)>0 :ga —cosx+1>0 : by cosx<1 Lyl « x# 2k, (k€Z) J=l o

[05400[ Jlell e Buliie &ls A" Jlullid

J05400[ e Basliie Wish' Qs A"(x) =0 [03400] o X S J2l e 0o £"(0)=0 of Ly

2021 ol anaell ¢Jloall Smin Maths alzo# g)s0



daglzo ol .S

[05400[ e slzie Wish:Jils A'(x) 20 O340 o XS U2l a9 £'(0) =0 16,50 Az (o Ll g

3 3
N..... x—sinxs% e g sinx—x+%20 16l B(x) 20 JO;400] o xS b e 003

() 0<x—sinx &l A"(x) 20 [0;400] o X IS 2l oo 4l wlai s

3
.OSx—sinxS% e (2) 9 (1) oo

0 wie Blacad als f il of wlsld

oSt s TACO Ry A(V) s Lide

x—0 x_()

sin x

f@=fO) ' sinx-x

x—=0 X X

3 3
x . : . X
.—ngmx—xSO oy OSx—smxSZ:LQ_\J Slad! Jgud! (po 9

. de ot (x7) e Lowall
0<1im(w)£0

X

i f DO _

iz "Ll s Aol Gudaty 9 lim - =0 o Lo

x—0 x—0 =0 6
S0)=0 die9:0 e @lazad AL f W Wl
0 Aolall wils abaadll wie (C) gamiall (T) olell @alas 5

(T):y=f'0)x-0)+ f(0)
T):y=1

(T) olell 5 (C) ominll gl pungll 2ucly0.6

sin x

-1
i f0) =y 13yl BLal uyas

fx)—y=

sinx—x

X

X
SR () >0[0;400] oo xS ol e of @lai g A"(x) =x—sinx by

A(T) bl s py (C) G=dl dde g f(X)—y<O0 :éi —h"(x)=sinx—x<0 4wy

2021 JQly  a@xxel Jigal Smin Maths azo# g1



J21 e (T) elall cims 2y (€) o) JUlld sl il gmme pe Jslize Giledl lalimie o6 Zuzg3 Al f Al o Ly

daglzo ol .S

x<0

(1) 5(C) pony7

:D (il (o

x> —mx—15
fm(.X)zz—?)ig\._' LAS&A‘).Q.A o f

X —mx—
o f dcgazma (nad.l
Logd X7 —mx—320 sl e 2,00 f AL

m—«/m2 +12

X =
2
A=m’+12>0=
m+~m’+12
T
X —x,=—\m’ +12<0= x, < x, e g

m—m*+12

X, =
2
s D =]—oo;x[u]x;x [u]x +oo[ :JWL
. Cmm 412 ! Lo j
= T
2

f A able olee-i2

2021 JQly  a@xxel Jigal Smin Maths azo# g152



—mx—15 X

lim f, () = li im =2 fim =]
X——0 x —mx — 3 x——0
lim £, (x) = lim w — o
x—)xl x—)xl X mx—73
lim f, (x) = lim Ll; +00
X=X A—)xl X mx
X2 —mx—3 gl alall 3ylal Aulyy psas s
lim £, (x) = lim L = o0
x—mz A—)xz x —mx— 3
- 1
lim £, (x) = lim w = 0
x—mz A—)xz x —mx— 3
1 2
lim f, () = thS_ lim = =1
ot —mx—3 o x
X —00 52 5% +00
X —mx—3 + 0 - 0 +

:M"‘T’

2
(C,) gomiell ylan x=T X0 T2 “”21“2 astall 3 il

2
(C,) emial plan x= TN T2 “’;”2 AU

s f A pad olems! dwlyo.3
s D, e lanadl alls £ i

(2x—m)(x2 —mx—3)—(2x—m)(x2 —mx—lS)

fla(x)=
(x2 —mx—S)2
(2x—m)[x2—mx—3—x2+mx+15]
(x2 —mx—?»)2
_ 12(2x—m)
(x2 —mx—S)2
D 2x—m sylal e f (X)) ByLal o3l
X —00 X, % X, +00
2x—m - 0 +

dolzo cyjlai S 2021 ol axaal (Jioall Smin Maths dlzo# 5153



daglzo ol .S

lpaidl Jous

X —0 X, n X, +00
2
ANEY) - - 0+ +
1 \ o0 +00 1
” \, / /
—o0 £ (%j =00

(C,) olamidl S JI iis G| Aads cnaid

m

2
M i sae S Jal o %:b : 3z sl A(a;b) €(C,)

.m L_,&.@:-a.mdid.?-iyzéwlej

az—ma—15:b(a2—ma—3)
a* —ba*-15+3b=0.....()

<:>a2—ba2—15+3b+m(ab—a):0:>
(ab—a):() .................... 2)

ab-1)=0=(@=0;b=1) 3 (2) dslall
b=5 s —15+3b=0 &S (1) Astall a=0 Jol e

(C,) sli=dl K JI @5 A(0;5) dbadl cm aga> sae S dal oo 03

m

A(a;b)e(C,)

s Lo 18y 4ds,bU
Alasb)e(c, ) e Bl

dslakl Joms pgds sline {

S )= [, (%)
x> —mx—15 3 X —(m—l)x—lS

X —mx—3 xz—(m—l)x—3

(451) lglas¥l s Alaaddl Jady oAl gl (nad5
wlas (41)€(C,,)
16—4m—15
=1 ———=1
Su(#)=1= 16—4m-3

(dmins)  16—4m—15=16—4m-3
~15=-3

2021 JQly  a@xxel Jigal Smin Maths azo# g4



daglzo ol .S

Wb —x* —2x slal o ()8l f'(x)=

m

(C,) olamill go @f JI iz ¥ (451) SlalasYl @l dazal) dia

:6 (gill (o

2

Jrooi—1[ Jlrll e f(X) = (o Aapae [l (1

-X
x+1

S st audys 1

bl
. —x* . —X2 .
. lim =lim — = lim—x =+
xo—0 y 41 w0 x X>—00
. —x’
. lim ———— =+

—-1x+1—0

Lgad |00y —1[ e Glazadll abls Wy f :aavadl*

(20)(x+D)+x>  —x*—2x
(x+1)?°  (x+1)°

(L2 d> x=0) 51 x=-2 :an —x*=2x=0

X —00 -2 -1
f') - 0+
A clpas Jeus*
X | —© —2 -1
S (%) - 0 +

+00
O

€ ob (A A axtl lacNl cpad 2

f(x):ax+b+ﬁ D, ex 8 ol cwialelall uysgs S EF-INS

ax(x+D+(x+D+c
) = DD (D
+1 :
2 S
_ax”+(a+b)x+b+c -
x+1
2027 jolley  anaall Jigall Smin Maths azo# 1SS



a=-1 a=-1
b=1 4wy <a+b=0:= il
c=-1 b+c=0

:JWb o
¢ 1
<b=1 i f(x)=—x+1———
x+1
c

el clednad) 3

2

x=—1:adslan —OO)‘PHJLE.AN.EJ.‘«A(DI)L)G lim - :+OOZQiL4.3

x—-1x+1

Jim [f(0) - (=x+D]= lim L 0w
x>—00 Xt>—00 x+1

Yy =—x+Liadslas —00 ez bl oyl eudiwas (D) 03

[4-3] el @ @ laso M Juas f(X) =5 Waall of sl 4
[4-3] e bles 25 9 Byetns f

S <S<f(H) D AS 5 f(4)=533: L
Cfl@)=5cs [4-3] 0l de @ pinic amg 03

x= Aolall ld Abadl 3y =5:dulslas gl pudiad) abody of Eritad

C(a;5)

.(cf)m(A)z{(A):yZS;éu

Jc,) (D) . (D) s 5

dolzo cyjlai S 2021 ol axaal (Jioall Smin Maths dlzo# 556



daglzo ol .S

.(n
() s (AM) ablasalas N g x<—1 M (x;0) (AG-L2) Ladl Ly
CX WY N abadl eldlas) sl .1
N@O;yy) o3l Ne(yy)
CAM //AN 531 susls slazal e N s A M Ll
s $tall o olelad v, (Sl 1 S
=k

x'=kx | - - T ' ~(x
ZaLLa.A{ ' (lhsd> dae kG u=kv 3G ullv .u( ’jj v( j
—k y'=ky = 7

x'y=xy'=0 sl

— (1 —(x+1
. AN 9 AM Lo
Yy —2 -2

2 -2 -2 _—
.N O;—zx AWy yy - = o3 yy=——+2 ey yy—2=—— g5 AM //AN
1) ~ x+1 1 x+1

X+ X+

0
OM * .ON 2y C"?SOMN:M
0 —_— 2
x+1

2 2
ON= |07+ 25 ) = [ 225 ) |22 s tins
x+1 x+1 x+1| ~
2x .
—— <0 o3 x+1<0 9 2x<0 06 x<—1 o Loy
x+1
.ON:—2x a9
x+1

OM =x*+0° =x/x_2:|x| :JWl s O—M[gj

OM =—x :o6 x<-1 i L

2021 JQly  a@xxel Jigal Smin Maths azo# ElY;



2x
OM xON x+1 —-X
= = A 9
2 2 x+1

'SOMN =

oSy byl OMN dslus 055 G X ey zlainwl .3

Lozl Leall (2 (S b yiol OMN dolus 055 G X 2ad Jilly f Il 2 OMN dolus 0555 oof Lasdls

daglzo ol .S

(f A s Jous cews) X=-2 ol (w4 Golud g 1 Ulull Gyanll
Somy bl Glus 4

Souy =4 amix=-2 U>l o

:/ (gl (o

3

- L Jitoo[ e 28,00 f

S =

e Jledl e Blazadtt aLls als f Al s sl dlys 1

3x7(x -1 —(x)
(x=1> 3%’ -3x"-x
3 - x3
2(x-1)°
x—1 (=D x—1

2 P -3x° x> (2x-3)
3 3

2(x—1)2J al 2(x—1)2\/ ol
x—1 x—1

f)=
7 | X

RGN ~ 0 o+

.B;m[d& Lolas 5osl5ie }1%} e Loles 2aslize f 211

sabldl .2
3 3 x3 3

. lim =+400: 53 lim = lim — = lim x> =40 o lim f(x)= lim e

x40 \[ x —1 x40 y—] x40 x X540 X540 x40 \[ x —1

3

lim f(x)= lim = +00
x—>-1 x—>—1 —

alpadl Jous .3

2021 oy anaell ¢Jloall Smin Maths alzo# £)S8



P El +o0
2
e - 0 s
00 ~+00
ol
:Jsl ‘_,)La.l\ N.a.'i.wl‘ -1.4

daglzo ol .S

X—

. . x° 1
,}:fg[ﬂx)-y]:}sg{ 1-(%;)} Lo

:JWl o +00—00: Al (o padll pue Al y las

lim

XF>+o0

oo

+0 Slgmy ¥ =X+~ ididslan (d) Jibe ojlin mudius dudy [ I gxin () o Gy 1
(d) J aaddly (O) dngsg dlys-oo

59

2027 jQlley  anaall ¢ Jioall Smin Maths dzo#



daglzo ol .S

. 1
f(x)—(x+%]>0 :JWl o { al 1+(x+5ﬂ>034

3

1

x—1

250 b |litoo] pe xS Jai o

(d) guazall 3sé piy (C) gill o) gay 1

(©) 5 (d) gy 5

(‘_»5.119.»}1.:.)4‘00)\5;@ g)ﬁ.n p._A,.EJ.A«.A Uslas L,.?Q x=1 old li;mﬂf(x):—i—oo UT Lo

haclus o8 NESRTAPS (d) peaiad! gy

o [N

ol [—

fet)

f(x)=be =2+

x —1

f(x)

2027 jQlley  anaall Jioall Smin Maths dazo#

:8 (ygill (Ja

o R—{1} e 28,00 x (aamd) pazell e dlls f oSl

allall Zagall 30y 093 f (X ) Bl LS .1

x —2+L ;x €[ 2400
x —1

—X +2+L X e]—oo;l[U]l;Z]

x —1

160



lim f (x)= lim [x —2+Lj:1 f (2) =1t o R WEUREY U Wylpetel 2lys 2
>—

b x -1
x—2 x—2
lim f (x)=limf (x)=f (2)=1 /e lim f (x)= lim (—x +2+L]:1
~ < - >~ x -1
x—2 PN x —2 x —2
X =2 el sie Spaias | A o5
L) (@), ) S (2) s 3
/4>—>() h——>0 h
—h+i—1
L) g )
< < < h(h+1)
h——0 h—0 h——0
_ h+——-1 2
- > = h(h+1)
h—0 h——>0 h—0
2 § Slani alls ne fanm o lim jw?& lim w:d Lo
< >
h——0 h——>0

Ll el
2 dprss olnasleall e 2 3 el cimi i ¢ pocan denss dalas el (e 2 3 elos cims Ju (€ ) ol
Al Alas A (2;1) 4k

(A):y =1 ey 2 dlolall wl3 abzall wie (€, ) ontell (A, ) 5(A, ) orsbeld @alas 2,08 -

(A,):y ==2x +54ws (A):y =f'(2)(x =2)+f (2) .x<2

bl il s 2l .4

lim f (x)zlim(—x +2+x1_1)=+oo

X —>—0 X —>—0

fimf (x)= i x <2~ |

lim f (x)= lim [\x —2\+L/+Ooj:+oo
> > x -1

li_r<nlf(x)= 1131(|x—2|+ﬁ/_°°j=_oo
| sleesl®
sl @ Joos 1[UTE2[ -« ]2: 400 ol e lazadt ais f i
__d Q:XZ_Z)E X € 2540
(x—l) (x —1)
fV(X): 1 1
—l-——=-|l+—— | ;x e|-o1U|;2
(x—l)2 [+(x—1)2j Celul
X —00 0 1 2 +00
£'(x) + 0o H =20+

dolzo cylal § 2027 Qe Al Jioall Smin Maths dlzo# ¢



2

ol paddl Jous*

X —00 0 1 2 400
f'(x) - 0 H =20+
4—{ Q0 +00
o - NS
1 —o

f (l):_%;f (0)=1 ae}o;%{ e O Leliold By B 3 baolpal ssme ol g@(cf ) gl o 1 3

Jlall e Loles 3t yg ([O;lJ Jell e Glacat alls )[O;lJ Il e 8y0kins 2oya0 [ ANl L
2 2

5 ( [O;l} Jlall e Lobes muA)[o;l}
2 2

Alslall asegill ouill Biapa s ij (0)=<0
(A):y =f"(2)(x =2)+f (2) x=22
ae}o;%[ s O >y J> i f (x) =0

abii § Jeolsall e al> platy (€ ) ol 101 iz

o }0;%[ i O Lol 5y

lim[f (x)+(x =2)]= lim —— =0 iwlas 6

x>0 y _1

im[f (x)-(x -2)]= lim =0

X —>+0 X t0 _1

Y =ox 21y =x — 2l e Legilsbas 001400 Jlsms (D, )5(D, ) cnplie cresitans bt (€; ) somill sl iz

diolzo ¢ilar s

(€) ) 5 plall clearadls (A,) (A, )elas) 7

l—m(x —1)

(1)

(E)..]x =2|+ =0 &bl ol sae m Gadsdl baus!) @il g Lol 248008

meR .y =m Lt @ clegaiall g (€, ) gl alolis blsi Juolsd #(E ) alslall Jsl>

2021 JQly  a@xxel Jigal Smin Maths azo# g62



i —aD ]_ +o

slsl e [ dagga—L S g Gols

Jsta aga | SEb Jag

(E | Adslaall Jag g LA
£ !

:Hdﬁ_,zﬂ <13 Asball Jol> sue Gow Les gLzl *

(E ‘)....‘cos9—2‘+ 1-m (cos6-1) =0
(cos@—l)

_ - s (E!

|cos & 2|+(cost9—1) mdSs (E)

f (cos@)=m &5 (E")

06]0;27;[ sl —1<x <1ae cosO=x 5

o> (E ") dslacl 0lé g € }—oo;%[ o 13 (1

X =77 85 co86 =—1 . T 3 icliaa J> Jus () &Jghl\ggém:%QlS\SQ(z

o131 (1

N | L

o> Aslal olé g € :l—oo;

Jsl> Juas ¥ (E) aalall olé gy e}%&oo o 131 (2

Cos s g Wl g JWN gy)) 9 Cos s boa) gyl g Jod gyl ) eles 1y83

:9 (ygill (Ja

() =2x—-VxX"+1: 0 R Lo 25,008 @Il (
.8 AN a5 slesl

e R Lo slazadll abls g adiul

g'(x)=2-

2x . X
20X +1 NESES |

dolzo cyjlai S 2021 ol axaal (Jioall Smin Maths dlzo# 563



daglzo ol .S

20X +1—
2N 1 —x Bylal e g (%) 5Ll :QLﬂl.;g.g'(x)zxz—lx s 9
X+

R e Ll sl @ls g :JWho g'(0)>0:R e XS Jal e Lot

L8 Bylal miial il by @ g M Juas 8(X) =0 auall of o 2
~(1)...2x:x/x2+1 ¥ 2x—x*+1=0 (G g(x)=0

A (1) Uslall x<0 d:-i %)

—L 4x2—x2—1:O: : 4x2:x2+1x>0:d_;

1
(oosdme d>) ¥ 7 \/gaix_ﬁrma & >l (0

1 .

18 5Ll

~+00

=
Sl

g(x) - 0+

F)=20x*+1-x: L R e Wl foA i (1

0 ey T e f Al Gl ol 1

Clim f(x) = lim 243 +1—x = 40

lim £(x) = lim 23/x* +1—x = lim |x|(2 /1+i2 —1]
AEISe0 XH>+0 X+ X

= lim x =+o0

X +00

.f'(x)z\/‘g%:Rw X K Jal o ol o 2
X

o> R e slazadl alls £ i)

f(x)=2x*+1—-x
2(2x) 2x
()= ~1= -
S W+l P+l
2x—+x*+1

i +1

1

2021 JQly  a@xxel Jigal Smin Maths azo# 64



daglzo ol .S

£ =89,
x2+1 7

(gl VX +1>0 ¥ g(x) slal oo f'(X) Bylal of Gy lda

—00 1 +00
* V3
J') 0 +
B | U (REN PSP P
—00 1 —+00
* &5
/') 0 +
+oo\ /+oo
J(x) 3
1 s
i)

: liIEO[f(x)+3x] wlus.3

fim [ £(0)+3x]= lim | 24" +1-x+3x]

[2 x2+1+2x}x[2 x2+1—2xJ
:nm[z x2+1+2xJ=hm

X>—00 XF>—00 |:2 x2 +1 _2x:|
lim [ f(x)+3x] =0 :bod syl
o (407 +D-4x"]
e [2 X +1- 2x} e [2 x*+1 —ZxJ
= lim ; =0
e [ x*+1 —ZxJ
1Sl sl

=0 s ile oylie pediue y = —3x Aslall 55 mediall
A0 1o (C)) gmiall Lyae ladiuwe (AY) 1y =X @anadl oof on 4
lim[£9=3]= fim [ 257+ xa]
. [2m—2x}=}3§0[2 x2+1—2xJ><[2 x2+1+2x]
[2 X +1+2xJ

[4(x2 +1)—4x2] o 4

lim [f(x)—x]:O Led

=lim =———==0

ST rie2]

2021 JQly  a@xxel Jigal Smin Maths azo# SIS



TP 0e (C)) gmiall yio pudtus (A) 1y =x euaradl:JuWl
oedll ansll 5
1y ==3x alslall 55 (A) eudiaal] ewilly (C)) omiall Fungng Lulys
(B) 353 (C;) :JWlls £(x)+3x=2vx +1+2x>0 sl
(A) Yy =x Al 3 (A) psiteel) 2eailly (C)) amiell Liaisy 2ulys
C(A) Gss (C)) 1l s F()—x=2x +1-2x>0

(A) 5(8) . (C)) gy 6

:10 (gl (o

cg Al wble 1.1

limg () =—;]imsg (x) =—o

X—>—00 X—>+0

tg Al s slxsl 2

—3x(x* +1)

'(x) =
§ NP +1

03 +00] e Loles adlize 5 ]-00;0] e Liles suslie g il

‘R e glazal alls g alill

(g W alpadl Jeus*

Aglzo cylal § 2027 Qe axaall Jioall Smin Maths dlzo# =16



g'(x) + 0

gx) | -~ / \ -

x=03559(x) =0 :aslll 3

g(x) < 0: o Lasds sl o> o0 4

caazad) Wi

NP +1—xx \/22x_
WX+ R e slaast 2l £
(2 +1)

flx)=—1+

\ g(x)
(X)=—"F—
i (x2+1)x/x2+1 o

im/ ) =+ im/f (x) = -« .2

R e duadlioe [ alladl: Julls g(X) 8,Lal o f '(X) 3Ll

f A clpasdl Jeus *

J'®) - 0

f) \ =

FQ+f(=x)=2; x Jagd> sue S dal o0 T glandl .3

X
+x+1-

X
() + f(=x) =—x+1+
Jsfix ! x*+1 NEaES|

(0) gomiell s 380 @(03]) of qizad f(O)+ f(=x) =2 14

L0 Aslall wls ahaill wie olell Wslas (D)1 y=1(D) Ll alstas 4

F(x)=0 dslall > .5

[152] Jlell e Loles ndline Syaiua [ A1l 0 29T (s Dygumzme ligmg M Juss f1(2) =0 aaslall

J@=-01ls f)=071 co> f) xAD) O 5

Aglzo cylal § 2027 Qe axaall Jioall Smin Maths dlzo# Sy



daglzo ol .S

lim [f(x)+x—2] wlus* .6

xX—>+00

. . X
lim[/f®+x-2]=]im-1+-—==)
X—>+0 X400 X+

) 1
=lim-1+—===)=0
X
o iz

400 )‘5_.13 Jike ATDLE.A y=—x+2 MJL&l‘jS p.g‘.ﬁ.l'_wl‘
lim [f(x)+x] olus*

X

lim[f 0 +]=lim(+-—=—)

X—>—0 X—>—0 X+

1

=lim(-—==2=0
X—>—00 1+72
X

—OO)b.'g-_) dSLA ‘_DLE.A y=—X Mél&l‘jé M‘ ui &'LL'E./.«J

. (C) sLédl .7

2021 JQly  a@xxel Jigal Smin Maths azo# E168






b o3 im [f)—(x+D] 5 lim () sl -z

v
W Sl Jeus JS -
.ax~0,26 45053
107 31 F (@) se0a cns -
AT gl oyl -

Gl Sl e f(x) St -4

cobdids lsae b g 0 Cus
s]-Loo| Jlmbl de f Aol Aol AL F e
F(A)=2 543

f(x)=x+a+

1l LS |-L00] cJlzll e 23,201 g Lol Al
g(x)=x"+3x>+3x—1
8 W &lpas Jous <141

X -1 +00

g'(x) +
+00

g(x) , /

1

g(z >0 5 g(0)=—1: sl 8¢l,a,
dedaddl-o
:1 agyb

1 1
B | A E O;E (X Ad> dde A O;E

g(a)=0
12 adyb
[o;ﬂ e yoiun g ahugioll o) dyb s

a Lus> sae PN e s 93) g(O)xg(%j<0 9

lolos ox)jin i by g g(a)=0 :cw[ae}o;%D

g a o [0;%} e

JLeo[ Ol e g() sylal

oAl cplol €

2021 Qe

(O

8 Lsaall Wlll LY Jeeddl 9o Jilatl (C) gk
il LS |- Loo] :Jlmll e ddyall
8(x)=x"+3x"+3x—1

8(0) sus 9 & W &lpdd Jodo> S dly Belydy -1.1
1
1
M}O;E[ Jlzll e & A sae 3929 He -0
g(a)=0
J-Lroo] Jlmll he g(X) Bylil piiw! -z
i LS |-L4oo] e ddpall Zouall W) 2 f 2

3 2
ol Liis (D) oSy f(o) =020 Fort2
s (x+1
(0315 )) wilmie 9 delaie plas
bl g X ads sue JS Joi o 4l 3ams -
g(x)

warall i p f tus f(x)=(x+1)3 |15 400
A

Amdid) puid 1@% Sl 095 e -
el ¢Jloall alzo# 70



1 1
ceR . FxX)==x"+x———+c
2 x+1

F()=2 :gans F Lol

1 1
dls 2 F(x):Ex2+x——+l g c=1 03l

x+1
Al Y
) FEBRNE
fooead :
| iad

oo Jlme S e Bpall sl DI f oSW
:L_JUJ‘ Slpaaid! Jgds LJ L@.y.a} Ac gazma

! 1 3 +00

% 2
£(x) + 0 - - 0 +

1 +00 +00
JF ) —oo/ \—oo \ 3 /

b.d o f(x)=ax+b+ﬁ S e f(x) cass
s slael €
F) el
sl olpadl Jous Je Ialaiel.2
. Cob. axaaxt sl cne -
il Al 2 Tim () 5 B (0) g o

x—1 x—1
3 1
Mas [ il ¥y Zj 5 RYEREY) S oyld -z

pollal culol € 2021 QI

g(x) - 0 +

s 3asil 2
Ll o |- L+o0[ e @lazadll aLls f Al

B +6x+3)(x+1)7 —2(x+1)(x* +3x7 +3x+2)

@) (x+1)*
, Bx* +6x+3)(x+1)> =2(x+D(x’ +3x> +3x+2)
f (X) = 4
(x+1)

_ X +3x*+3x—1

(x+1)°
vy 8(X)
f(x)_(x+1)3 ’
i@ S@ _ o 8@
'OQ‘HQ xX—a (a+1)
.g(a)=0

A el ols dhadl 3 (I) emield (oladl s pucasd!
lim f(x)=+0

x—-—1

S [F=Ceeb] = fim =

Bl coylin muiius ga Y =X+] 1 didslan sl @parad
sl padl Jous -

x | -1 +00
£ - lo &
—+00 +00
S )
\ BN /
(a+1)?

a=0,26 s0-1.3
3
(1,26)°
(iwe Hast) (1) qomidl ey
S il Je¥ 85lead) ae Adyllall g lelall gy -1.4

fla)= =189 :107 JI f(a) soue

1
,f(x)=x+1+(x+—l)2 éi a=b=1 :u=

-Loo] Jlell e f Al ¥ Il Foppad -

Al (JIoal dlzo# anyY



X —00 1 +00
f()—y - |+
dpagl | (A)<3(0)|] (A)3#(0)

H(C) =il b5 385 2 o(152) daaidl o cudi 2
Y| E3 RUVE ST
x=X+1
y=f(x) ey {y=
Y+2=f(X+]1) 4wy

1
Y=f(X-D+2=X+— (4
J&X=D 4x ¢

1
Layd Al i g(X)=X+—:s
Loy Wb 8w g(X) +4X o9
8(=X)=—g(X) : o¥
(C)) omial ol 3810 2 0(132) dlaaidl : JUl
Jeolgadl yema Jal> tﬂ(c) Sl t’al.éj'&ja.&.’a(;ﬁ.d—&

f(—ﬁ}o ; f{ﬁ}o‘ f©=3
2 4
o]

Al Aa3LL) 4
- Wslaall A € -1 1]
waelias Jo dolaodl 22131 A=-1

pollal culol €

=
w |

& Sledl Llias (C) oS g C:i‘ b=1.a=1:05L3
(0:1:]) uilmia g dolaia plae

(C) gemik! ol =0 of +90 JI X Jog Loie il o -1
=X+ aidslae (A) Lylie Logitene o

(A) pediucell 4l (C) gmikl 2aing oysl -

(O) gl BLs 385 L o(];2) daiidl o el -7

Jiolsill spme Jalo aa(C) omill lolis dads cas -5
sae A Al saall @b cous Liln (he ¢ Aud> sae d 4
) =|A] astall Jol>

e >
DA CO N
s e Blanasll AL Wis f
, _ C
S o=a (x+1)

cCob. aslxl-i2
Al ahud Jeus Jleaiuly

a—4c=0

%a+b—2€=l e 9 f(lj=1

1 3
—a+b+2c=3 2 0_
S ¢ f( j_3

1
.0213 b=14a=1:‘=jl.zjl_,3
olus -0
m A ¥ =0 5 lim f(x) =+
1

<
xX—>

(O)d wplae x=—1 : Uslallys euazudl ol Fiud sy
oAl sme G3lgn —0 9 400 Hleax

x—1

:L)LE-L‘ -C
3

1 T L | EAN
T e rmtaer s 22 5 11 (2

I A—’)LE-L‘ N.E.'Lwl‘ 1.3

—(x+ 1)} Lol

‘l‘im f(x)—yz‘l‘im {x+1+

4(x+1)

= 1im { 1 }:o
o] A(x +1)
iy (O) gl ld —o0 gi+00 J1x Jgs Loaie :JUlly
y=x+1 dalslan (A) Lylie Leshie
s ol -

2021 jQlley - anaall Jioall dzo# 2



o ]—oo;—l[u]—l;O] t e Adyme Wia f (1
4
9 delaie plas § Sled! Llies (C)) .f(x)=—x+m

KA1 3 e 38 LS (05 ) uilaia

¥

T Jagrall ssusdl e f ol -1
Jor> UK f ulpd ool Alys 9o 9 2l Belydy -0
Llads
b LS [0300] Jldl e a8pme Wls g 2
lais plas ‘3 u’L‘...!l Leleias (Cg) ‘g(x):x+ﬁ
- uilzie g
O e 8 ale ceus -
wie (A) Mk Lylae Lediun Wedy (C,) o o0 Foms-c
) Wslae cpad wallay +00
.8 alpas u")éi'ﬁ
i LeS R—{—l} Se e Wls k(N

k() =[] + ——
x+1
i ED=KO) o KD kO)
h;O h h;O
S g 13Le

Az did! i Leswoia Ipwds tael -
G aazill wie (Ay) 5 (A) pruslall fslaa casi2
- % =0 Lalols
oAl cplol €

2021 Q= -

Aslaall Jsl> w3 A e |-Z1[ULT
aclan > sl =34 A=-3
> Aslaall 4 € J-o0; =3[ U ]33 400]

C,) . ]—oo;—l[u]—1;+oo[g\.:. e daue Wl f
t g S Jamy Laladd Joua 9 Gled! Lebiias
X —o0 -1 +00

+oo || 40

()

T,

ALY s ae b Les Jlsa IS (e o ol Uas i cen
(C)) Gomield ylin y =2 didalan gl pudiud ! 1
Jaums M Juis F(X) =0 Wslall.2
: RS>0 dxa Al Jplo> A gama.3
S =]—oo;—1[u]—1;+oo[
OsSs Lesie f(=2)> f(X) "1 098 |00y 1] Jl=l 3.4
Mx<=2
(Cp) @il JI poxts A(-351) Waaill.5
gy foWIAG

e J> &
o
Jim f(x) =lirn{;(i2 =28
s 2
Col Lasdl alaasll Jous et o
o 3
dWbs Dy o X S daloe f(O>2 1l ¥
.xeD; L f(x)>0
o 4
J2l e Wby Joos—1] Jlell e Lolas sgliie f Wil oo
FE2)> fx) 6l f() < f(2) s amx <2
s .5
fJWly f(O)>2 tld Dy e X S dal et
(C)) gl I s YA(3D) alaaadl i 5 f(-3) %1
s .6
#& Dy o s D, = o0 =1[ U =L 4o0] gl ¥
1eD, Sy —1gD, ;g O luell il b

Al ol dzo# 03



g ') - 0 4
ZQLQ.&J.H Jjg\_?*
X O 1 —+00
g'(x) - 0 +
4 +00
| N,
g()
D=3 e
(b LS R={=1} e ag,a0 @ls k(1
k() =]+ ——
x+1
4
—h+——-4
im XD =KO) Rl g
h—<)0 h;O h
. —h*—-5h . —h-5
=lim == lim =
hs0 h(h+1) w0 h+1
lim KW =kO _ 5 ..,
h>>0 h
bty
4
h+—-4
.ﬁmM:th
h:)O h h;O
hW-3h .. h-3
=lim =1lim =-3
w0 h(h+1) 50 h+1
lim XM =KO _ 5 ..,
150 h
:Qi @M"’ 3

oo aiadl saadl (¥ 0 e lazadl als e Wls Wil K
(=5) Sl oo gradl saadl golun ¥ (=3) el
(gl sl -
e BLATA A5 5 cneddl (o Blazad ALls K Aludl o Ley
ol daddl die eles hvas Judn K A gt 0l 5Laad)
RUETPRF |
a9l abw 3 (0;4) aball vl Joa)l pin tabo-Yo
kol s

Lalold @l Azl wie (A,) 5 (A) cnwlell @olas casT 2
X, =0

((A) ilas caias Wslas*

X 20 s X =0 e wlen cami ga(A))
y=k'(0)(x—0)+k(0) :aus 4

(A):y="3x+4 y=-3(x-0)+4 JWl s

((A) wles caas Aslas®

pollal culol €

2021 Qe

(G 5 () (D) i3

9 (C) aamilly sumll ggiud! ol doluw cwsig
1 1
.x=—53 X=E‘ y:() :LfY.:La.A é.” Slegdiwd

‘o o=l U-10]: e adme aWls f (1

)=t
x+1

4
lim f(x)=lim| —x+—— |=+x©
o x> x+1
lim f(x)= lim —x+i =—0
X1 X1 x+1
lim £(x)= lim | —x+— | = 4oo
xp—3-1 -1 x+1
(C)) Gl dutaddl P 0 SLLAI sl 7 hatal (Say
Sl Jouo -
X | —00 -1 0
+00 —00
—00 4

lim g(x)—x = lim (x+i)—x: lim (ijzo
X400 XF>+00 X+1 XF>+400 x+1

+00 1 (A) Shle Lylie Lesitun Juiy (C,) gl :oold

. y:X:g@ ddalane

. 8 Q‘_jLi.Sszb.J-G

s il Lol

s (03790 e lanadl s

, 4 (x+D)*—=4  (x+3)(x-1)
g'(x)=1- 2= 2 2
(x+1) (x+1) (x+1)

J> x=-3) x=1 ;éi (x=D(x+3)=0 :55 g'(x)=0

(L2sdse
ZJLIJ\ dj.x_;z-,” s (P L4l diag
x |0 1 400
anael ¢Jloal dzo# any



i WS |-L4oo| e Adyae Wis f

.o . 2
gl orull § Gled! Lbitai (Cp) 5 f () =¥ Jx+1

(033 J) puilmia 5 dslaia plas JI
AN SRS eyl
Letuisl ol (e Juds (C)) ikl o orl-2

L Y=x adslas (D)

(D) 5(C,) domiall diudd] Zyagogdl Luysi-cs
by aads 3 Jeolsddl seme plady (C)) of o 1.3
3<x <4 X Lol

dalolis dads 3(C;) amiall Lulos (A) @slas cne-cs
N ULUSTE N
cplall guas & (€) 5(A) pujlg
Aesdll Jaf o potais @ls [ Al Alol1 Al unglg
. X parell 0
bl -1+ Jlmbl e @dyae Asaadl I g5
. g =|f(x)
dossyl @32 (C)) o Bl (C) eLidl Koy cauS oo

bl @lall eds 3
Bylisly sde M gdoedl Jarugll pad cos (Ll (3306
8 =m" el Jols

Cj.&od.‘»ﬁ

fx)=x— = PP ]—1;+oo[ D A9 dls f
Jx+l T e

AL s Ay 1

bl

Uz!hmf(x)—hmx— ! =—00

ol x+1

lim =0 :o¥ hm f(x)=limx—

1
.xl—>+oo ,x+1 X0 ,x+1

= 400

sl
it [ +oo] e lazad abls f il

pollal culol € 2021 QI

X <0 s X =0 e wlon cami ga(A))
y=k'(0)(x—0)+k(0) :40s

(D) y==5x+4 6l y=—5x—-0)+4 :Ju
() 5 (Ay) e(Al)p—w) 3

s (C)) RORN

(C)=(C) iy k(x)=f(x) 08 x<O0 csiS 13-
(C) (C) 4o 9 k(x) g(x) ol x>0 cals 13)-

idoludl olus 4
5 (C) gmilly sumll sl simll Ll S 3as
Slediud!
1 1
x:—Ej X=§‘ y=0 :L¥slas &I

N\J—.o N\_'_.\,\_
ol

k(x)dx j k(x)dx + j k(X)dx :die 3

oL

f(x)dx+j g(x)dx
:{—%+4ln(x+l)} | +{—%+4ln(x+l)lj

:—%—4ln2+4ln3—4ln2:41n3u.a

2

S=4In3u.a JW

Al ol dzo# 1)<



Cf ALY AN F s 4

F(x)zjf(x)dxzjx—Jledx
X
2
= | xdx— dx "
I J"\/x—i-l ¢
2
=X _4fxt1+e
2
(A dde iy («/x+1)l=;:dﬁ
i i 2(\Jx+1)
. C:4ZL.;L7JL33

- g(x) =[f ()] Bylall]-L+oo e 23208 Wis g5
1 (C)) e Bl (C,) slidl S
g(0) = f(x),x> x,
g(x)=—f(x),x<x,
:L}U_H_p
(C}) de goaie x>, (C,) Jal o0
deolsall ezl Awdlly (C)) slas x<x, (C) =l o0
80 =m” slall Jglo 55Lals sie Loly L33 6
Ddal o Lt
(X =2). cazgo dummg J> aslaall m=0
Ormse ol Aslaall 0 <[] <2
asina ,3Y1 5 Cimge Leaast (Dl alslaall | =42
SV 3 plabine (Mo Aslasll ] > V2

g(X)=|f(X)|={

pollal culol €

2021 Q= -

2 1

Fo=1- 2 x 1:1+x/x+1
(\/m) x+1

1
X)) =l
fl=l+ (x+Dx+1 e
L 4oo] e Loles sliie f @l Wl s f'(x) >0

s alpad! Jous
x | -1 +00
J'(x) +
~+00
f) | —o /

el Slegdiad) 1.2

it Wolas (p X =1 ol lim f(x) =—00 11 Ly
0 Hlem (C)) gomiell )las

Lo

) ) 1 1
}Slzo[f“)‘x]:lg?o[x‘ﬁ ‘M[‘ﬁ}zo
(C)) gmiall il cylie pudiue Uslas (2 Y= X i g
H0 Hlgm
s |-L oo e Loles 2ussy 9 Bpaiaa f <13
f(1,3).f(1,4)<0:4_,m3 fa4 €1 5 £(1,3)=-0,01
Mo s () =0 :slall Anogill el Aape s 03!
L3<x <Ld.cinx, luss
(C)) ablas alaas 2 A(0;-2) 1wy f(0)=—2:uut-o
A sgzma e
((A) soledl Wslas
y=2x-2:4 (A):y=f(O0)x=0)f(0) :Lu
cedall uas § (C) 5(A) oy -z

ANl Jioall ao# )Y



i LS R—{—1} Lzl e 2dya0 £ oaall 2l

llmx_1:+w3 X +3
XZM oid! § Gled! Lldas (C)) juy  f(X)= 1
11m x)=lim x—1+——=—o0: L .
f( ) x>—o0 x+1 Julls . idlmie g delaie plae JI cogudd |
lim —*— = oo ;¥ lim f(x) = lim x— 1+—4 =—o0 IS 2l (e 0385 dumy €9 b @ Bgdgaztl slucdl e 1.1
x;—lx'i_l !cl—)l rHl +1
—0"

c
— bt —— R—{—1\ -
f(x)=ax+ +x 1 R { 1} o X

hmi_+oo ;¥ lim f(x) = lim x— 1+i:+oo

xl—> 1~x+1 x—-1 xt—>-1 +1 ’L'(‘-é-.'.)—‘S a‘w Jl&& J“}b;‘ m‘f QL"'LQ; W‘ 2
Ls\zﬂi‘ ulﬁ h(m f(.X) :_Oojli},n f(.X):+OO ui Lc.a 3 )3-ZL L.").‘}A L.')La-‘ Lﬁ-‘-"-’-‘“-‘,*- J‘!jf'.(cj) il | o| (;:\3~3
x-1 x—>—1 Addalas d)_.ajad.!aa. 3 %P"}U'
x=—1ddslas sl ezl Llae Lylae Lesdiuwe Jus (C) osdiuwa Y =X—lalolall 13 (A) eanadl of cnd
: A(C)) gmiedd Bl olae
(Cf)@zgdjdjuu)m{myiiml‘ 4 (A)J‘u Ib (Cf)n- .3‘:“):1 5
) . 4 . .
‘xl‘g?w[f(x)—(x—l)]leérpwx—l+m—(x—1) Lgd ol R—{-1} 0 X S Jal o 4l ce1.(N
x—D(x+3
Clim .f&.!u.lJEt.a.L&lHJl.dl‘_,Af'j‘f'(x):L(z)
e x 41 ) (x+1)
=0 9 Ldoyad Aegama Jlma e [ A1 pid olasl (o2
Jile oylie mudiene Y =X—1aslall 13 (A) @uanad! die Ll Joda JS
(C)) gmiall G daidl wie (C)) gomiall (D) uled! @slae ST 3
(A) 5 (C)) Jaangdl dulys 5 0 Ll s
4 ) .
= @=y=[f()-(x-D] et (C)) gmiell Bl 850 (2 AL =2) Wasidl oF ot (1N
S(C}) 5 (D) (D) oS pyi.2
I Aslael G385 o M sl Sapsl b Ll e 3
(D) cms (C)) gl x<—1 U olilies > f(X)=m
—0 . (A) 353 (C,) gmill x>—1 Wy 9 (C)) il sumll ggiud! ol dolus cous! 4
aawad) . 5 Xx=1 :Lealidolas (pilll Creddiwd! g (A) peaiud
R—{—1} e slaze abls f ail x=e -1
4 i~
'x :1— Lu..\J CM‘J”QS
S (x+1)°
:(x+1)2—4 D Cob . aaxt slac i1l
(x+1)° b c K .
a’-b’=(a-b)a+b) 185 fe=axebs s Ro{-1) oo X 0 dal o )
(x=D(x+3) ., (x+1-2)(x+1+2) _(ax+D)(x+D+c
= 2 f ('x): ) :ilAj - 1
(x+1) (x+1) X+
’f M‘M‘ﬂb@‘oﬁaj.z :ax2+(a+b)x+(b+c)
e boled g fLE.U o) Lol 8,La) (e f'(x) 8yLal* x+1 ! !
a= a=
s (R={-1}

Ab=—1 1wy Ja+b=0 0= Gl
sl (x+3)=04 (x=1)=0 Ll sliae (x=D(x+3)=0

c=4 b+c=3
x=-3 9l x=1 ;'L.!L“J"z
4 4
lim —=0: ¥ hm f(x)=lim x—14+——=+400
x>+ x4 ] X400 x+1

ol clol € 2021 hiollsy - aaall Jioall élzo# o



sauled) g8l 3

(C)) ol abolas Laas Juolgd 2 f(X) =m Wslall Jsl>
deg Y =1 :dlslall 93 qudtudl e

.m e J-o0;—6[ U [ 2;+00] : da e cpalizes cal> Aslaoll -
m=2 ol m=-6 :J>l o acline J> slaoll -

me [-6;2 i) o Jsl> Wslaeld Ll -

Al Glus 4

-1

ol 4 A1
S= [ [f-G-Dhx= | —de=[4InGr+ D] wa.

1

S =4(lne2 —ln2)ua =(8—4In2)ua 4w o

:g\._'LnSR Se Wyas Laue Wis f

f(x) :.X(l-i- ! J
Jx®+1
9 selaie plas JI gl goiud! 3 Gl Lbias (C) o
(035 ) uilmie
sy [ o cusi-ia

tladd X Auds sue S Jal o asl cddi-o

, 1
/ (X)_1+(x2+1)m
A sl pas U"‘)"i'ﬁ
als aasdl 3 (C)) geminll (T) pulell Wslas casi-i.2
.0 dolall

pollal culol €

2021 Q= -

5 X —00 -3 1 +00
e (x=D(x+3) + o -- 0 +

]—oo;—3]u[1;+oo[ bl e Liles suslie f

[-3-1[U]-E1]: Jlall e Lobes mslie 5

(—1e D, :9)

MAPELNIPNES,

X —00 -3 -1 1 +00
f'(x) + 0 -- - 0 +

o /—6 \ +oo\ /+oo
—00 —00 2

FM=2, f(-3)=—6

10 Liols o) alazatl e (C)) gmiall (D) olell Wslas .3
f0)=3 > y=FO)x=0)+ f(0) :Jadl (o iS5
y==3x+3 53 f'(0)=-3 4

Gmiall bls 38 2 AC-L=2) ahadl o glas 2.0
.(€))

s Laay b\

wo: oliew (C;) Lol )bl \Wyo A(-1;-2) 88
W Dy o 2a—x.x )3 )

. fQRa—x0)+f(x)=2p

dub e =24 a=-lLu

4

2-x)=-2-x-1+ :

A ) —2-x+1

J(2-x)=—x-3+ :—)c—3—i e 9
-x—1 x+1

& 2=+ f()=—4,

SQRED=0)+ () =2(=2)

(C)) gmiall Jolis S50 2 A(=L;-2) Abaasll Jull
ol e 2480

_ ().U)JJ ‘x:X_l . o
y=f(x) Wi o y=Y-2 oley
Y-2=f(X-1) :aing

Y=f(X—1)+2=X+§ gl

4
a3y Al & 129 g(X)=X+}1zoo9J.

§-X)=-g(X) 1 Y
(C}) sl bl 3y oo A(=L-2) abad) 1 JUb ¢

ANl Jioall ao# g



1
f=l+——pe—
' (X +DVx*+1

A Sl Ay

AR
17
Iim f(x)=lim x| 1+ = lim x =400
X>+00 Xb>+00 ’x2 +1 X>+00
lim f(x)= hrn x=-0 b

XH—>—00

Joua i 9 R e Lilas sugliie Wl 031 f'(0) >0 @ Ll
(FIE 5o Ll pad

X
J ') +

fx) | —o / .

2 (T) Lulal! @lslae-i 2
s f0)=2 2 (T):y=f(O)x—=0)+ f(0):Ld
FO)=0
daadl @ (C)) Gmiald (T) pololl Wslas (2 Y =2xX 1400 9
0 Aslall &3

(T) J il (C)) dassg dwlyo-o

éi Ll ajbu\ ) d).a_“ 8Ll

X —o0 0 +00
fx)—y + 0 1
1) 3£(C)) ¢ T)==5(C))
Lozl
- (C,)N\(T) ={0(0;0)}

10l iiad

20(0,0) :Jull 5 Tull @ (T) (bl (8yim) plaiy (C)
(C)) gomiald Gllasil dlas

@ (C)) s=iall ylas y=x+1 :abslall 93 (d) o 0wz

P ly>
ETsY

pollal culol €

(C)) ol il 5 (T) I 2y (C)) Bpagng upsl-co
(C)) gmiall qylin y=x+1 :ddslall o5 (d) ol cmg
S ekl ediad ) (d7) Wolas griial @ T Hle> @
Bl glall 3 (C)) 9(d) (d) -
PTIPLY R Je d8y20 dauc WIsg 3

g(x) :|x|(l+ ! J
VX +1

A9y & Wl o el
i § W gmia (C,) punyl (C) po Lidlasl-o
-Glud! @lall

ik LS R e 28,00 douc dlls f

1
(x)=x| 1+
e x( \/x2+1]
Asys [ o elsl
—x9D;yn x J3 ol go olian apye A f IS
JED==f(x) P Wy Dy ye
Lo

—x,xeDf

f(=x)=—x 1+;
(—x)2+1

J=x)= —{{H ,—leﬂﬂ ]

=—f(x)

Aoyd [l Jul

raavédl -o

(B A f Il X ads sae IS dal e Lol

2x

=1+

2
X
NP+ (P + DX +1
@ P -8
(2 +Dyx2 +1

2021 jQlley - anaall Jioall dzo# 194



A9y & Ul i

ol

LT
o[
(C)) e 3ain (C) s x>0 (S 131 24
dwolgall seml 4l (C)) alas (C) olé oIS 13

(b LS R e @dpas dpaae dls f

P 5x7+4

="
X

3 dalae plae JI cogaddl goiadl 3 bl Llias (C)) 4
(031 )) uilmia

‘f(x)zx—5+%:¢l_5. R e X JS ol e il ot
diggal by A sae @ dys

i £(5) 5 1im £ < Jim f(2) cusl2

c ol R e X JS dai ope il o -1.3

A s il () = (x_z)(xx2+ 2x+4)

A ol Jeds JSho
Jile Leausi cnylin Crasdins Judy (C)) gl of cusig
wla@oae ol by
ols akadl § (C)) gomill solea (A) J Wslas dzgl5
clalela
(C)) =il 5(A) punyl6
9 J0s+oof Jlmll e f ANl F a1 &Il cne-i.7
. F(2)=-10: ga=s I

9 (C)) il sumll goiud| o doluw o i-o
x=2.9x=1 pagiiudl g Juolgdll s5ome

Cjﬁ.ad:-ﬁf

i LS R e Wayas Aosac Wis f

X =5x+4
fX)=——F—
x
(X el
X5 +4 P (x-5)+4
x x

pollal culol €

2021 Q= -

lim f(x)—y=f(x)=lim x£1+ ! j—x—l
x> +00 X+ X2+1

= lim -1=0

X
il olae y=x+1 slall 93 (d) esitadl WL 5
A0 Hle> 3 (C)

lim f(x)—y=f(x)=lim x(1+ ! J—x+1
XH>—0 X>—00 X2+1

= lim —2—41=0
XF>—00 fxz_'_l
D Ul izl Alslas 2 (@)1 y=x—1 :JWl 5
(C,)

(P il Jlasi) :(C)) 5(d) (d) ooy -3
(S R Lo asasdllsg 3

g(x)=|x|(1+ ! J
Jé+1
A9y & W o wlsl -
D, o —x 9D, yn x ) Jorl o loliew s f 1538
SED =00 W

1

N =|x|(l+ﬁj

g(—x)= |—x| 1+

=g(x)

ANl Jioall ao# LLig0



s daaddl 3 (C)) goiall (A) Lolall Wslae 1l
‘y:—7x+7;g¢1 Uolall

(P o Jal) .(C)) @ikl 9(A) sy -6
AL F a9 DI s L7

Ad> dae € Cu ‘F(x):%xz—Sx—4l+c
i X

¢=0 ssbias F(2)=—10: 3ams F Lo

.F(x)=lx2 —5)6—4l 03l
2 X

s ludl-o
S o [a:b] Juoll Je adw a\)) f aolf 1s) * 1y
x=a o)) 9 (C), Licaialh d330w)) as-lnsl)

e

R

Ll

e

_._ _d,_h h_ h.h_
N L T R A A

| |" .
=1

[3%)

|
[HTR

|
nooc ks -

S=['~fGdr 19l y=0 ¢ x=b
[ ~reax=—[ foodx=|; feod *
§=["~fdv=— feodr =, f(x)dx

3
.S=§ua :‘E,ILIJL.@ S=F(1)-F(2):4w 4

daaml) sluc¥ dogame o ddyall [ daaall A puni
X —x+1

==

9 tebaie plae I cgudd!) ggiud! § Giled! Ll (€)
(033 ) uilomin

A ema e dem 5 Jiolgall sema e lom sassll
P cyla €

Blally R

2021 Q= -

4 .
a=5 :JWly f(X)=x-5— 4l
= X v

R e glazadll aLls fai-i .3

. 8x 8 x -8
f (X):l—?:1—72—3 La._g.ﬂ

X X
; _0)(P —2x+4
8 =l )(xx3 XD ey

(x—2)(x* —2x+4)=x" -8
o X H2X+4>0 iwiey A=—12:5000 ¥ +2x+4 L0

x—2 ,
JWl s TS e £ 100 Bl Jul
: X :

X —o0 2 +00

0
F @) + || -0 +

JroorO[ U 25400 fe Lolas 5l f
10:2] e ols amsline f
A Sl Jads -

X —00 0 2 400
f'(x) + - 0 +
+00 | |+00 o0
f(x) / \ /
—00 -2

Ll rendiwd! 4
oylie pudiue sbae X =0 :ol3 £i£01f(x):+oo e

LA 9me 515

. . 4 .
3X1i>rgof(x)—(x—5)=XIEEO(?)=O: Ol asdl o

lim f(x)—(x—5)= lim (izjzo
XH>—0 X=>—0\ X
=0 90 gy Jile ylie pudiue Wslae Y =X—5:die g
:(A) kel Wslas .5
(A):ry=f'Dx=D+f(1) : 2 dslall
F'O=-T74 fD)=0 >

Al (Jloal dzo# maly



R de plazadt abls f i
—1(x* + 1)+ x(2x)
(x> +1)°

\ x* -1
f(x)_(x2+1)2 '
X =1 gLl e £1(X) syLal®

of x=1:o3 (x=Dx+D)=0 ;40 x* =1=0 4w

£l = L]

4w 9

x=-1

X —0 -1 1 +00

(x—=D(x+1) + O - 0 +

) oles!*
Joos = 1] UL +oo] :Jlell e Loles Byl f 2 dule o
[-L1]: Dl e boles Badline g

1S Jgun®
X -1 1 +00
—00
f'(x) + O - 0 +

3
2

o

X &@au&ﬁ&ing.d.S

X X
2—f(x)=2-1+ =1+
J&) x+1 x+1
= f(=x)

(O) Jbolis 38,0 2 Q01 dazill o] iz
Lol bl aba Q ylo Q0;1) e (0) ik 1ab>Yo

(C) =il 5(A) uazidl owy 6

pollal culol €

2021 Q= -

X

J)=1-—
X+

1:Lz._,..dx g&gaa.mdsgl?iwd&igyﬂ

(C) & giiwel 9 =0 sieg wie 0 Wl Ble cowsl2
ad WUoslae s llay Lylie Logdiune Judy

=1 adslas @A) I acuddly (C)) aasg gyl 3
Jodr IS o3 f Al pd slsl il 9 f'(X) .4
Lelndd

s o X gé@amds&ioaddicm.s

SB35 Juis () of giwl g f(=0)=2-f(X)
(0) ikl 5(A) it gyl .6

. szxﬂdx ST 1.7

0

sumll goiud! (o pdl Ao luw E)AML e |-o
X:OZLA-@“-‘.}LLQ el crasdid | 9 Juolddl jema o (Sl

.x=13

X —x+1

f)=

o Skl R e d8,all £ Zouadl &I
X

s o] 1
L X ads sae S Ul e

X —x+1 x*+1 X
fx)= p = -

+1 P+ K+l
X
x*+1

—1-

RIS

. X —x+1 X
im f(x) = lim —; = lim — =1

Xb>+00 x40 x7 4] Xk>40 y

Jim f(x) =1 :JwWt 4

XH>—00

Silss 705 T ey lae eudtuw Aslas Y =1 1030

deolsall sgs

gl 3
—X

X +1
plas =X

(D) 353(C) gmill x<0 W

(D) cxs (O) =il x>0 W

(A) abz, (O) o=l AO,]) abazdl §

() olus 4

BLal pa & F(0) =Y Gyall Lal f(X)—y=—— iyl

Al ol dzo# g



[l [5:200] Jlebl e aSyadl adlol i X zluy
CC(0)=f(x) . [5200] Jlmbl e X S ol ot
gl I 48,4l Leamils o cumy 1 YY) sus 5o Lo -
oS Lo J3T At d) 2K (5S35
oS 5 W LY Adlea¥l 2Kl C(X) 3oyl ey -
C'(0)=C,(0) : i
adlayl 4l of Le « C(x) adleayl 22K 5)lee ua
40000 & S| =T 5 Ly
J AT 15 ey adlesyl

4&\5)!@@@!

kS ]—1;+oo[ Se Bpae Loue Wiy f

bl A
lim f(x)= hm 1x +100+ 27600 = lim lx3 =400
X>+00 +0 3 x+1 x40 3
- lim f (x) = o0
x—>-1
s dansd) -1 .2

-L4oo] e @lazadl Al f Al
57600  x*(x*+1)° —57600

My 2 _
flo=x (x+1)° (x+1)°
f,(x):(x +x) —?7600 e
(x+1)
i) sl -
ol bV
(x* +x)* =57600 = (x> + x —240)(x* + x + 240)

D die g« =15 400 X A+x+240>0 o XS Jai oo Ll
X Hx=240 35,40 pe () Ll

—16 515 Lea (> g Jull 5 A=961 s
Casyal Aegaza J il ¥ 4¥ (o985 J> —16)
(f auw

X -1 15 +00
x” +x—240 - 0 +

[15;+00] (e Loles Blie tdie
J-115] e Lles 2nbline
RAPELRIPNES,

pollal culol €

2021 Iy

e Clus -1.7

1
[ In(x’ +1)} =lln2
o 2

bm‘-u

1
S = 4If(x)dx 4em® X(Il_x Jr1dx]cm2

0
S =4x£1—%ln2jcm2 i g

S=@=22)em’ i

Bylally |- 1500 Jlebl e @8yall Apsuadl &Il o f

1, 57600
Jo=3x x+1

+100+

0 ey 48T eudy —1 e f Sl ceu 1
Lo Jlmbl e X S dai e il o 1.2
£l = (x* + x—240)(x* + x + 240)
(x+1)*
S @ |- Lo Jladl (e f ANl 5 sl peiiisl-c
Lelass Joua

1
Jrkl e x> —— il H Lo 1l asgr

=0 Jal e puais &1 ] 15400]
C, il Jl A zieis . ASYI e T 200 5 J3Y1 e

ANl Jioall ao# 1183



Ll Jouo S8 o3 R e g allodl pas olessl Lupol-oo
Cus & g N> Juas g(X) =0 :alslall of o -1.2
.07<a<0.8
80 Blal x Al sdall 0ud cous giiiul-o
R e pall [ Bsaadl 21 yaas NI
X =2x+1
S = 0f ol ok LS
dolaie plas ) cogudd! gorud! § Sled! Lbias (C))
(0315 ) uilmio
Cim () 9 lIm f(x) - censt 1
:R oo X ‘_\S‘J.?ia.aﬁigg-il

1 1-3x
'f(x)_i(x+1)+2(2x2—2x+1)

Moo Lylie Losiiune Jiy (C) gomikl ol giitn! -
o Uslae ol llay (A)

 (A) 9 (C)) gmiall qudd! puipgll (uyal -z

x.g(x)

7= (2x2 —2x+1)2

(R x JS Jal o il o -3

S Ut G

Jgdar JS& 08 X b cew f1(X) Byl giiul-o
(f(ax)=—-0,1 usb).f W oipss
JO=0aslll R § g @3 f(D) sl 4
(C)) gkl s (A) pediud! gl .5
(b LS R o d8yall douall il oS3l 6

X —4x*+2x-1
8 kel Llias (C . h(x)=
sl 3 Sl Litas (€) 5. 1) 2x" —2x+1

&lad

h(X)zf(x)—Z ;R ) x‘-—‘sd"'iu“biw-i
by Jads Jsgmis (C)) 53940 92 (C) ol il -
(G) okl 8 cngeas bl

e Jo &<
bl (1
lim g(x) = lim 2x’ —4x* +7x—4 = lim 2x° = +o0

-lim g(x) =00 :dia

c R Lo g Wl s slas! 8s)ya-oo
R e slacadl als g il
g'(x)=6x"—8x+7 Lot
R de Ll saglie & Wby 8'(0)>0

pollal culol €

2021 Qe

X -1 15 +00
') -- 0 +
400 400
f(x) \ /
4825

d
I

Jrtiroe] Jlall e hiais —— A H 2
X+

H(x):jh(x)dx :jﬁdlen(x+l)+c Lol

(Ad dde € Lo
H0)=0 :351 x=0 U ¢y punis H ] @las
ce=0:dlb o
Y sue 1.3
Lozl Al e G (61 Say Lo JBT 2udial ) 22K
A el
Lals Gyivall Luxll 2ad LI o azs wlpaall Jous o
x=15 >l o0
15 5o =¥ e JUill s
Al a0
S Al 4L Al 2 C s dieg C'(0) = C, (%) 1] olas
C,(x0)=f(x) ¥
20y

1 3
€ = Fde =] 0 =3 4100+ 2720

dx

C(x)= é x* +100x +57600In(x +1) + k :6]

-2 suck s
(gay 40000 2 I¥1 T 5 Zloy auleay) 2l (o Lele

i = 473375

~57600In6: aia 5 C(5) = 4000

:Jb o

12 C(0) by 24K 5yl

473375
12

(A AT 15 Zlwy adleny) 2 A guiie

. C(15)=101662,43DA

.C(x) =$x4 +100x+576001n(x;_1j+

i LS R e @8 pall dganall &Il 8 (ST
g(x)=2x"—4x" +7x—4

Jim g(x) 5 lim g(x) cews! 11

Al ol dzo# 09y



x.8(x)
2 —2x+ly 2
1l X.8(%) 3ylal o f (%) 1Bl
X | —oo 0 a +00
x.8(x) - 0 - 0 +
W ol Jeus
X | —oo 0 a +00

f®| - 0 - 0 +

_ / 1\ /+oo

f(a)

f')=

fx)

1) clus 4

JH=0
S =02l R 3 g @

(x=D(x*+x-1)
=0 :2 x)=0
2x* —2x+1 g [ )
(x+D(x*+x-1)=0
X 4+x—1=0 o x+1=0 L, ,
e Wolall Jgl> (43

N I N R P )
2 2
(f@)==0,1 150).(C;) gl s (A) puanadl o815

ZQLIJL;j

9 X X, =1

T

S R fedsnsapucdls h 6

X —4x* +2x-1

h =
) 2xr —2x+1
3zl -1
pollal culol € 2021 QI -

9 800, 7)=-0,37 e R e Lles 245, 9 8yatue & 1.2
£(0,8)=0,06

Mo iz 8 (1) =0 Alslall Al sgill @l Liases s 331
07<a<08c> a luey

: g(x) E)L:UY"GT’

X —00 (04 +00

g(x) - 0+

AR N(

lim f(x)=—o0. lim f(x)=+x

PR e XS ol e Ly 2
1-3x
2(2x° =2x+1)
x =2x+1

X)=——
S 2x* —2x+1 -
dsLA ‘—’)LE.U N.a.]'.wl‘-u

1 1-3x
lim | f(x)—=(x+1) |= lim ——————
Hw{f ) 2( )} s 2(2x% —2x+1)

f(x)zé()ﬁ-l)—k s 8yleall e lall w9

= lim —3x2 zlim_—3:0
x>0 2(2X ) x40 4

adslas (A) Mole Lylie Legiiue Juds (C)) @il 103
1
=—(x+1
y 2(x )
(D) 5 (C)) pomiall gl gl Gopsl -z 2
1 1-3x
() m———
S == e
A=-16<0: lajae o8 2027 —2x+1) >0 35,Lall
:JWb s

1
1-3x 3,La Q,af(x)—a(x+l) 3Ll

X <9 +00

fo-y +

<o |u-

(C,) simial

A
sl (A) G

) (A) =3

A3) gl i

toe S el w123
, 1 -3Q202x*-2x+1)—(1-3x)8x—4
Fa=tq (2( 2)( 2)( )
2 42x" =2x+1)

2xt —4xP +7x% —4x

S = e a1y
' _x.(2x3—4x2+7x—4) )
= ey ¥
anaal (Jloall dzo# 9s



g(x)=x"+6x+12 (kWS R esasdlis g (1
R e g alludl pad slasl Luyol .1
s Rl e Glazal alls g il
g'(x)=3x>+6
3 4+6>0 0¥ e Lolas 5uliie Wls 8
9 8(-148)=? x> R e Lolas 23y 9 patue § .2
g(—-1,47) =2
03l
laos Mo Jeas 8(X) =0 :alslall dogill uall diape v
ael-1,48,-1,47] >

: 8(x) 5,Lal
X —00 o —+00
g(x) - 0 +
X =6
SO =7 LLS R e daae [ (I
X +2 7
abll -1 .1
3 3
lim £(x)= lim ~—C = lim == lim x =+

X400 x40 x4 D x40 x Xb>+00

Jdim f(x0) = lim x=—o0 :Jlally 4

s Rl e slazad alls [ il -
3x7(x*+2)-2x(x —6) B 3xt+6x7 —2x* +12x

J = (X +2) (X +2)
_x(xX’+6x+12)
(P +2)
vy X8(x)
S = o 12y b o

il X.8(xX) slal e () 3yLal

X -0 0 +o0

Jf'X) + 0 -- 0 +

[0[;0]&2 lolas dmdline [ &I
Jreosa]U[0sHoo] e Lobes Buuliie
: Slpddl Jous

pollal culol €

2021 Q= -

wdm B = F(0)=2 R e x 8 ol e
h(x)+2 = f(x)

X —4x? +2x—1

h(x)+2= +2
@) 2x%=2x+1
X =47+ 2x-1+2(2x7 - 2x+1)
2x* =2x+1 s
X =2x+1
= = X
2x? —2x+1 S
Zél.ﬂl_gj
h(x)+2=f(x)
:0) gl -0

~-(0
.v[ 2] aclass gl leudVL(C)) 5940 9 <)

(b LS R e a8,all dpsuall Il 8 Sl
g(x)=x"+6x+12
R de g Il i sloxsl sl 1
G & lagg M Juds 8(X) =0 :wslall o o .2
Al suall oud s gilinl o o € |-1,48;-1,47]
L8(x) sylal x
e LS R e 3kl 2yl 1) yaas I

X -6

I cul) ggall § Gl Lbas (C,) . [0 =5

X

(0:1]) uilie g walaie plae
lim f(x) . im f(x) w1
x.8(x)
(x> +2)°
Lelnds Joun U8 o3 R e g alludl pad sloesl ol o3
Gmiall Jile oiylae ¥ = X :ddslall 93 eudiud | ol om -1.2
(C))

’(A) P-.'-a-.'.-“‘-“ J‘ a-j-w-i-"ﬂ, (Cf) w_g w).}i -

S)=

1X i sue S 2l e il oo

3 .
fl@) saall o> miliwl o3 f(a)zza 2ol o3

. (Cf) @z&‘j(A) P"-'EJ'“‘L‘ MJiA
3(Cf) Gl sl goiwd! padl doluw JI S @ 30595
. Y=05 x=0.x=0 :L¥slas ‘é‘i.ﬂ Slecdiud |

B )L fa) cxe[o0] K dal o of

%aZSSS—Eaa ol om oS

Al (Jloal dzo# 096



B f)S fa) cxe[a;0] S Jal oo of casl 5
s f A ol Jods o
BLf) L f(a):p a<x<0

Lo d*

jo —3dx < jo f(x)dx < jo f(a)dx

oleginadl 5(C,) omilly sumll gsiad) el 25lus S
W Al i Ly ¥=05 x=0.X= :(Nslae &I
o3l anSOJLaMQh_

[ fledx <[ fode <[ -3dx
_I:%ade—j:f(x)de—jj—3dx 5l

_j;’%adxg _j:f(x)dxs —j:—3dx ‘e 9

g(x)=x+x —2: 4 R e aspall aoaadl @il g (1
SN @ Gt s LeS led! Lbdas

oAl cplol € 2021 yoll&y -

x a 0 +00
_(X)
J'(x) + 0 - 0 +
f(a) +00
f@ 7 O\
—0 -3
sl ‘,DLﬁ-U p-g.ﬁ.'i.wl‘ 1.2
s ol Lay
. . x -6 . X —6—x(x"+2)
lim —y= lim —x=1
RS R At R i
—-6—2x —2x .. -2

X 42 o x2 0 oy

y=x:Aslall 93 euatad!l s g ‘l‘im f(x)—x=0 :Led

= 11
[xfF>+o0

(Cf) Gomiald Bile oylia
H(A) paiiad! 3 Al (C)) sy -0
(s =0 =22 5,La) oo Byall s)ulf(x)—y:%:tu
; (x*+2)
X —o0 -3 +00
fx)—-y + 0 -
248 (Cp) s ()
Knasl (1) &8 ¢ (A) S
(€)N(A) ={1(-3;-3)}

3 £
. f(a)=§a o) olas 3

a3

2_ Lo
o +2
8(a)=0
s =—-6a-12 Juls @’ +6a+12 .
12

2
o’ =-6-==
(04

3
fl@)=Saams (1) § pasaall
Qs —L48<ar<—1,47 L
L 2,22< f(a)<-2,21

Z(Cf) Lss-‘?—nl‘j(A) N—E-'Lwl‘ M)i 4

Laad 2.() J1sdl o9 (D). f (@) =

ANl Jioall ao# Ny



gx)=x"+x =2 12 Rle A0l dpaall Al g (I

. g(1)=00
Rl g ()l
x —aC 1 40
g(x) - P +
fx)=x _x—21 s b WSRE e A% Al £ (1D
x

- (1

lim f(x) = lim (x— x_zl]
X—>—00 X x

—>—0

) X —x+1 . X
= lim — |= lim —
X—>—0 X x—>-o| x

= lim (x) =—0

X—>—00

lim £(x)= lim | x— x_lj

X—>+0 X—>+00 X
) X —x+1
= lim —
X—>+00 x

3
— lim x—zj = Tim (x) = +<0

X—>+0 X

) . x —1 . [(xP=x+1
;lcli%f (x)—)lclgé(x — o j—)lclir(l)(—zJ—ﬂo

(SR9as e x =0 adaleall g (g:\s.\...ml\ ;‘f'\:\..\]\ adil)
(€ )it

.f'(X)=g(f) fasra e xS dal e s (2
X

s xS dal e s R Gle GEINALE £ A

D poara
, 1><x2—2x(x—1)
f)=1- >
(")
X2 =2x* +2x —x*+2x
=1- 3 =1- 3
X X
xt+xt—2x x(x3+x—2)
- x! B x*
_s(¥)
x3
L F A s elad) -
D f ()l e
oAl cplol € 2021 yoll&y -

LR e g (x) bla] giital 5 g (1) e Al 551k

: o RY e ddpall f aaoadl ol yaas (11
fx)=x —1_2x
X
slall J1 il gsiad! § Gl Ll (€ )
(0,757 ) itit) 5 ol
- Im f(y 5 lim f(x) e -1 (1
by Rl yad g imf (6) ol -4

FETSE LNV FRIVEENC
LS Joda S8 @3 f &Il ARS lams] s -
Jile cylie y =2 Wslall 15 (A) peaiwd! of 00 -1 (3
(€)oot
(A) peiadl s (C, ) gombald ] sl s -

Jimll 3@ lasg Mo Juas f (@) =0Wslall of oo (4
- FL4-1.3]

(€} ) gmitt @ (A) gyl (5

5 (C)) @omibly sumll giad! il dobus A casni (6
X =3g9x =1y =x :L¥slae QI Slegiiudl

ANl Jioall ao# LLgg



P ]_oo;()[ Jadll e Lelai o) Jia 5 3 paiue £ 4l
f(-1.4)=-0,17
{f (-1.3)=0,06
ool 43y s 4l 5 f (<1,4)xf (=1,3) <0
Song ety da i f () =0 Asbed) A il

—-1l4<a<-1.3
-5

P ]—1,4;—1,3[ c ]—oo;O[

;(Cf)@a-‘ml\-,' 2l (5 sivall jall dalue 4 Glua6
y=x 3 x =3¢ x =1: VYl Sl Slail)

3

A= I(x—f(x))dx

pollal culol €

2021 Q= -

x —0 0 1 +0C
g(x) - P +

x? - ICJ) +
f(x) + | -7 +

Al b 5 f () <00sSe e x €]051] dal o
) ]0;1[ Jaall e Lalat dailite

sf'(x)>00s8 ¢ x e]—oo;O[u]l;+oo[ dal (e
5 [l oo] Cxallaall (s IS (e Labai syl i A1) il

.]—oo;O[
RN ST PR PLIN
X —0 0 1 +o0
f'[x] + - (? +
0 | |+o0 400
e 1
Glay = x Al 13 (A)M\Qio@-i-:ﬁ
(€ )i oe
x-1 —-x+1 .
fX)-y=fx)-x=- 3 Z—ZIL‘:“]
X X
E)
—x +1 -1 1
lim x)—x|= =lim|—+— |=0
x—H—OO[f( ) ] ( xz j x—>+oo[x xzj
. . -1 1
hm[f(x)—x]zhm —+— =0 5
X —>—© x—>-—o\ x X
d:\\.nu‘)\&ey =x Jdalel) J.J (A)ﬁs.u.d\ 4 g
.(Cf) il

D (A) a5 (cf) iniall sl g gl 3 -

o e x-1 —x+1
S8 A f () —x =2t
X X

Dox 1MW e f () —x

- — 1 +00
f(x)-x + Q -
Y @ 35C)) @)=y
- @) &= (C))
I

Jdaall 8 @ lus s s di f () = 0Ahabedd O lasig
o -1L4-13

Al (Jloal dzo# 094



hjolladl cloi € 2021 Qe - @naall Jioall ao# 140



-

il s,a 1 e Toamld 3yl dud gl Jloiml g ladl Byl o Jaadl 1da

o

Lol olead SdL ue ! Qﬁjﬁ“ﬁ‘ Ll e 4l g

Chbnoussama@gmail.com

&

/

Lelgialll Junlgill Cilnig walisg pe algll 1aa Jgaxi

PR

5mint Maths




